
Item Description Quantity
3/4" EMT 1-Hole Strap 143
Locknut, 1/2" 66
Locknut, 3/4" 80
Locknut, 1-1/4" 8
Locknut, 2-1/2" 4
Locknut, 3" 6
Locknut, 4" 16
Snap Bushings 3" SB-3.0-39 Black 199
Liquid-Tight Strain Relief, 1/2" 32
Liquid-Tight Strain Relief, 3/4" 3
3/4" Two Screw Connectors BX 76
1" Liquid tight Flexible Metal Conduit Conn., 90deg. 
Elbow 4

3/8-16 X 3/4" HCS CS 90
3/8-16 X 2-1/4" HCS CS 120
3/8-16 X 2-1/2" HCS CS 52
3/8-16 X 3-1/4" HCS CS 65
1/2-13 X 1" HCS CS 24
1/2-13 X 1-1/4" HCS CS 429
1/2-13 X 1-3/4" HCS CS 366
1/2-13 X 2-1/4" HCS CS 90
1/2-13 X 3" HCS CS 243
1/2-13 X 3-1/4" HCS CS 281
5/8"-11x2.5 Z5 HCS 50
9/16-12 x 1-1/2" HCS, Zinc 19
8-32 X 1/2" SHCS 25
Circular MIL Spec Strain Reliefs & Adapters 
BACKSHELL SR R/A 1

3/8" S/S Studs 7
10-24 x 3" Round Head Machine Screw M/S 33
1/4"-20 X 4" RHS Z 8
8-32 x 3/8" PHPSMS 69
#10-32 X 2" MSPPHMS 53
1/4"-20 x 1/2" M/S RPH 19
#10-24 X 1/2" OHPH Pan Screw CS 100
#8 X 1" Sheet Metal Pan Head Phillips SS 200
5/16" X 3/4" HEX SMS ZAKG 11
#10 x 3/4 Drill & Tap 224
#10 X 1" Drill & Tap 152
#12 x 3/4 Drill & Tap 375
1/2" F/W Z 296
5/8"-USS THR LHD 268
5/8" HI-ALLOY L/W 298
3/8"-16 FHN Z5 2536
9/16-12 FHN Z 5 NUT 18
8.8 HCS 6MM - 1.0 X 20 10
1/4"-20 304SS Toggler 14
LUG, #6AWG CABLE 1/2" HOLE 6
22-18 AWG Ring Terminal # 10 Stud 76
1"x1/4" Reducing Coupling 4
1/2" X 3/8" Reducing Coupling, Brass 3
3/8-16 X 1" HCS SS 125
3/8-16x3 1/2 Hex head Bolts Stainless 60
3/8-16x4 Hex head Bolts Stainless 1
2-56 S/S NUT 147
3/8" JAM NUT 7
3/8-24 NF Jam Nut 94
#2 .093 X .250 S/S F/W 43
1/4" F/W 35
#2 S/S L/W 28
10-24 X 3/4" RHSS S/S 29
#10-24 X 1" RHSS S/S 27
10-24 X 1-1/2" SLOT PHMS SS 50
10-24 X 3/4" HWSLMS SS 253
4-40 X 3/8" FHMS S/S 117
#8-32 X 3/8" PPHMS SS 38
3/8"-16 X 1" PH Machine Screw Slotted 38
1/2" -13 X 3/4" S/S FHSMS 2
8-32 X 1-1/2" PPHMS SS 100
2-56 X 7/16 S/S PPHMS 28
4-40 X 3/4" FHMS S/S 155
10-32 X 7/8" S/S PPHMS 84
WASHER, FLAT, 3/8 X 1, SS 316 14
White Recpt Plate 1
SCREW, HEX CAP, 8-32 X 1/2 ZINC 12
SCREW, SOCKET CAP, 4-40 X 1/2 8
FHSCS 5/16-18 X 1.25Z 16
3/8-16 X 1-1/2 Socket Countersunk Head Cap Screw 
Zinc 7

3/8"-16 X 3" Yellow Zinc SAE Grade 5  Hex Cap Screw 12
HCS, 3/8-16X1.5Z5USA 5
SCREW, #4-40 x 1/2", PHILLIPS PAN HEAD, SEMS, 
ZINC 16

SCREW, MACHINE, 3/8-16 8
3/8" - 16 316SSHXMSNUT 2
EB 10-6 59
ST to ST Fiber Optic Patch Cords, 1M 4
LOGIC STYLE SOCKET 10
6-32 X 3/8" MSPP 18
8-32 X 3/8" PHMS 19
10-32 X 3/8" M/S PPH 57
10-32 X 1" M/S PHP 111
1/4"-20 X 5/8" PPH M/S 93
#6 X 3/4" PPHSMS 80
#10 x 1-1/2" PFHTS 100
NUT, HEX HVY, 1/4-20 UNC, 18-8 37
LW, SS, #10 441
SCREW, HEX CAP, REGULAR, 1/4"-20 X 1/2" LG 60
VS-08-BU/BU-RJ45-F/RJ45 Female Insert for Freenet 
Sys> 5

LOCTITE, 330 NO MIX ADHESIVE KIT 7
PLC-BSC-24DC/21-21 Relay Base 10
Plug-in Bridge - FBS2-12 4
UT10 to UT 2.5 reducing bridge 20
ACTIVE MODULE UMK 22-REL 120/21-21 3
1/4"-20 X 1-1/2" NCHZP 125



Item Description Quantity
5/16-18x3/4 Hex head Bolt 125
5/16"-18 x 1-1/4" NCHZP 291
3/8X16X3/4 NC HZP 79
3/8"-16 x 2" NCHZP 500
3/8-16X2-1/4" EZ HEX CAP 935
3/8-16X2-1/2" EZ HEX CAP 543
3/8-16X2-3/4 EZ HEX CAP 405
3/8-16X3" EZ HEX CAP 245
3/8"-16x3-1/2 NC HZP 204
INSULATED FERRULES 20
20 POLE TERMINAL JUMPER 2
WASHER, FINISH MACHINE SCREW FLAT, #4 
ZINC 30

SCREW, MACHINE, 316 SS, 8/32 X 3/4 12
WASHER, LOCK, 1/4" 18
CARTRIDGE, .25 CAL, SHORT, 6.3/10M 1
CAP SCREW, HEX,  3/8-16 X 3-1/4,  C/S 40
END COVER, SAK 6N 36
1/4-20 FLN NUTSRT ALS 152
8-32 RIBBED NUTSRT LG FASTENAL 92
SCREW, PAN HEAD, PHILLIPS, SELF DRILL, #10-16 
X 5/8, SS 410 71

CAP SCREW, M8-1.25X45MM DIN933 CLASS 8.8 ZP 71
SET SCREW, 5/16-18 X 3/4, BLACK OXIDE ALLOY 
STEEL, OVAL POIN 69

SET SCREW, 3/8-16 X 2-1/2,CUP POINT, ZP 68
CAPSCREW, HEX, 1/4-20 X 1-1/2, GR 5 ZN PLTD 207
HCS, 1/4-20X1.75Z5USA 98
CAPSCREW, HEX, SAE J429, 3/8-16 X 1-3/4, GR 5 
ZN PLTD 2

CAPSCREW, HEX, SAE J429, 3/8-16 X 2, GR 5 ZN 
PLTD 19

CAPSCREW, HEX, 3/8-16 X 2-1/4, , GR 5 ZN PLTD 3
HCS, 3/8-16X2.75Z5USA 400
CAPSCREW, HEX, SAE J429, 3/8-16 X 3, GR 5 ZN 
PLTD 5

CAP SCREW, HEX, 3/8-16 X 4 5
HCS, 1/2-13X1.75Z5USA 145
HCS, 1/2-13X2Z5USA 54
CAP SCREW, HEX,  1/2-13 X 2-1/2, STEEL 50
CAPSCREW, HEX, 1/2-13 X 2-3/4, GR 5 ZN PLTD 54
1/2-13 X 3" HCS CS 402
CAPSCREW, HEX, SAE J429, 1/4-20 X 3-1/2, GR 5 
ZN PLTD 56

CAPSCREW, HEX, SAE J429, 1/4-20 X 4, GR 5 ZN 
PLTD 28

NUT, HEX, YELLOW ZINC, STEEL, CLASS 8 23
MACHINE SCREW, 5/16-18 X 1-1/4, SS 13
SCREW, FLAT HEAD, MACHINE 5/1618 X 1-1/2, SS 
18-8 36

MACHINE SCREW, 5/16-18 X 1-3/4, SS 66
MACHINE SCREW, 5/16-18 X 2-1/2, SS 32
MACHINE SCREW, PAN HEAD, PHILLIPS, 3/8-16 X 
1 50

MACHINE SCREW, PAN HEAD, 5/16-18 X 2-1/2, SS 54
MACHINE SCREW, PAN HEAD, 5/16-18 X 1-1/2, SS 27
MACHINE SCREW, PAN HEAD, 5/16-18 X 2, SS 56
FW, S/S, 3/8X3/4 O.D. 1730
THREAD CUTTING SCREW, 1/4-20 X 1-1/4 53
SCREW, MACHINE, 6/32 X 1/4, 316 SS 2
SCREW, MACHINE, 316 SS, 6/32 X 1/2 1
SCREW, MACHINE, PAN HEAD, #8-32 X 1", SS 8
SCREW, MACHINE, 10/32 X 3/8 9
SCREW, MACHINE, PAN HEAD, #10-32 X 1/2", 316 
SS 39

CUSHIONED CLAMP, 1-1/8" OD 32
Fixed Bridge. FBI 2-20 6
BRIDGE, FIXED, 10 POSITION, FBI 10-8, SILVER 8
BRIDGE, INSERTION, EB2-15K/UK 35 14
Fuse terminal, ASK1, BFI, Hinge - 6
TERMINAL BLOCK, SAKD 2.5N 242
Bridge Bar Isolator, ISSBI 10-10 18
JUMPER- ISSBI 10- 8 8
End plate for ASK1 fuse terminal 11
END STOP, SAK 6/35PA 6
END BRACKET, EW 35, FOR TS 35 TERMINAL 
RAIL 2

TERM. MARKERS, DEK 5/6.5, 1-10 PREPRINTED, 
VERT. 10 PER CARD 5

TERMINAL LABELS, DEK 5/6.5, 11-20 
PREPRINTED, VERTICAL 14

BLOCK, TERMINAL, GROUND MOD USLKG 3 10
TERMINAL BLOCK, GROUND MODULAR USLKG 
5 234

2 Pole Jumper, SAK 6N 38
TERMINAL LABELS, DEK 5/6.5, 1-50 PREPRINTED, 
VERTICAL 11

COUPLING, HALF, 1 NPT, STEEL SCH 40 7
LABEL,TERMINAL. DEK5/5. VERTICAL, 1-50 10
HEATER ELEMENT, ELECTRIC< PT-1850 240V 
500W 4

Jumpering comb, 58 pole, angled, 8mm pitch, bare 287
Jumpering comb, insulation sleeve, 8mm pitch 161
CLAMP, END, E/NS 35 N 13
TERMINAL MARKER, UC-TM 5, UNICARD 1
Breaker TMC 1 M1 100 5.0A (5530931) 4
TMC2M1 120 2.0A 1
Contact TMC2M1 120 5,OA (5512014) 2
Breaker TMC 2-M1 120 10.OA (5511170) 1
CONNECTOR, POWER, HEAVY DUTY, HAN E 
MALE AWG 18 SLVR PLT 45

CONNECTOR, POWER, HEAVY DUTY, HAN E 24P 
M 1

TOP MOUNTED AUXILIARY SWITCH 2
GASKET 500
GASKET, SEALING, SIZE 12, MOUNTING FLANGE 21
Terminal, grounding 8
STUDS, STACK, 1/4-20 (SS250-20X1000) 76
TERMINAL, DIN RAIL, 2 POSITION, 30-12AWG 141



Item Description Quantity
TERMINAL, DIN RAIL, 4 POSITION, 26-12AWG 90
TERMINAL, DIN RAIL, 2 POSITION, 26-12AWG 62
CONTACT BLOCK, NO-NC, 6A SCREW 7
PUSH BUTTON, BLACK FLUSH, OPERATOR 1
INDICATOR, 120V, TRANSFORMER TYPE, NO 
LENS 14
LIGHT, WHITE, 440 VAC, LED 4
CONTACT BLOCK, 2NO 1
PUSHBUTTON, BLACK, FLUSH, 1-NO 30mm 
MOUNTING 2

CONTACT BLOCK, 2NC 11
ILLUM. PUSHBUTTO 115 VAC 12
PUSH PULL OPERATOR RED BUTTON E-STOP 2
PUSHBUTTON, RED, 1NO/1NC, 30.5MM 3
MAINTAINED CONTACT ATTACHMENT 2
PUSHBUTTON, YELLOW, 30.5MM 3
GLASS LENS BLUE 5
GLASS LENS WHITE 15
WATER & OIL-TIGHT LENS, BLUE 1
PLASTIC LENS AMBER 2
GLASS LENS GREEN 8
SQUARE LEGEND PLATE, RED BACKGROUND, 
TEXT = "RESET" 2

SQUARE LEGEND PLATE, BLACK BACKGROUND, 
TEXT="START" 2

SQUARE LEGEND PLATE, RED BACKGROUND, 
TEXT="STOP" 2

SQ LEGEND PLATE, BLACK BACKGRND, 3/16" 
LETR 1

SQUARE LEGEND PLATE, BLACK BACKGROUND, 
TEXT="MOTOR RUN" 8
CONNECTOR, RCPT 13
CONNECTOR, RCPT 41
CONNECTOR, PLUG 30
Terminal labels, DEK 5/6.5, custom print, vertical 3
ZACH STRIP ZB5,QR:FORTL.ZAHLEN 101-110 10
ZACH STRIP ZB5,QR:FORTL.ZAHLEN 111-120 10
ZACH STRIP ZB5,QR:FORTL.ZAHLEN 121-130 10
ZACH STRIP ZB5,QR:FORTL.ZAHLEN 131-140 10
ZACH STRIP ZB5,QR:FORTL.ZAHLEN 201-210 10
ZACH STRIP ZB5,QR:FORTL.ZAHLEN 211-220 10
ZACH STRIP ZB5,QR:FORTL.ZAHLEN 221-230 10
STRIP, ZACK MARKER, ZB 6:UNBEDRUCKT 95
AMPHENOL AEROSPACE CONNECTOR, 
MILITARY 28

DOOR ASSEMBLY, HD-DVD 1
SPACER, FAN 2
TOGGLE SWITCH GUARD 2
CABLE STACK PLATE - LEVEL 1 1
CABLE CLAMP, WR16S 16 1
GASKET, EXHAUST SHROUD, PLC CONTROLLER 2
BUTTON HEAD SOCKET, M4x10mm, SS 200
SCREW, HHCS, 3/8-16 X 3/4, ZINC, GRADE 5 31
CAPSCREW, HEX, SAE J429, 3/8-16 X 1-1/4, GR 5 
ZN PLTD 306

SCREW, HHCS, 3/8-16 X 1-1/2, ZINC, GRADE 5 388
CAP SCREW, HEX, 3/8-16x3-1/2, ZINC 28
SCREW, HHCS, 1/2-13 X 1-1/2, ZINC, GRADE 5 224
HCS Z 5 , 1/2-13 X 2 321
CAPSCREW HH 1/2 X 2-1/4 Z5 200
HCS Z 5, 1/2-13X2 1/2 432
SCREW, HEX CAP, 1/2-13X3-1/4, Z 5 20
CAPSCREW, HEX, SAE, 1/2-13 X 3-1/2, GR 5 ZN 
PLTD, PK=10 160

HCS, Z 5, 1/2-13x3-3/4 1760
HCS, Z 5, 1/2-13 X 4 17
CAPSCREW, 5/8 X 2-1/4 G5Z 52
WASHER, FLAT, TEFLON, 0.156 x 0.438 x 0.04 400
FERRULE, 16 AWG, INSULATED, BLACK, PK=500 2000
FERRULE, 14 AWG, INSULATED, BLUE, PK=500 1
FERRULE, 12 AWG, INSULATED, GREY, PK=500 484
FERRULE, 4 AWG, INSULATED, YELLOW, PK=50 200
SCREW, MACHINE, PAN HEAD, CROSS 
RECESSED, #6-32 X 1/2" LG 87

MACHINE SCREW, PH, PHILLIPS, #8-32 X 1/2 122
SCREW, PAN HEAD, PHILLIPS, MACHINE #10-32 X 
1/2, MS ZN PLTD 432

SCREW, MACHINE, PAN HEAD, CROSS-
RECESSED, #10-32 X 3/4" LG 38

SCREW, PH, 10-32 X 3'', ZINC 100
SCREW, MACHINE, PAN HEAD, CROSS 
RECESSED, 1/4"- 20 X 3/4" LG 272

WASHER, FLAT, 1/4, ZINC 7
WASHER, FLAT, TYPE B NARROW, #6 269
WASHER, FLAT, TYPE B NARROW #8, ZINC 
FINISH 258
WASHER, FLAT, #10 90
WASHER, FLAT, TYPE B, REGULAR 3/8" 71
F/W, Z, 1/2 SAE 114
WASHER, 5/8 SAE FLAT Z 256
1/4 BOND SEAL S/S 78
5/16 BOND WASHER S/S 63
WASHER, FLAT, 1/2 X 1-3/8 OD 92
WASHER, LOCK, ZINC FINISH, MEDIUM SPLIT, #8 178
WASHER, LOCK, #10 STEEL 202
LOCK, WASHER, 5/8  Z 129
WASHER, LOCK, 1/4", ZINC FINISH, EXTERNAL 
TOOTH 121
WASHER, FLAT, 1/4, YZ 200
WASHER, FLAT, 3/8, YZ 216
WASHER, LOCK, 1/4, YZ 1600
WASHER, LOCK, 3/8, YZ 650
CLAMP, 1/2" 4
NUT, MACHINE SCREW, HEX, #6-32, ZINC 53
NUT, MACHINE SCREW, HEX, #8-32, ZN 84
NUT,  HEX, 1/4"-20, ZINC FINISHED, GRADE 5 60
NUT FINISH HEX 5/8 Z5 128
NUT, NYLOCK, 8-32, NM Z 98
NUT, NYLOCK, 1/4-20  Z 50



Item Description Quantity

NUT, ZINC M8-1.25 66
FERRULE, 16 AWG, INSULATED, BLACK, PK=500 1271
SCREW, HHCS, 1/4-20 X 1/2, SS 494
CAP SCREW, HEX, 1/4-20 X 5/8, SS 45
SCREW, HHCS, 1/4-20 X 1-3/4, 18-8 SS 2397
CAP SCREW, HEX,  1/4-20 X 7/8, SS 100
HCS, S/S, 1/4-20X1 1/4 994
HCS, S/S, 1/4-20X1 1 1/2 857
SCREW, HHCS, 1/4-20 X 1-3/4, 18-8 SS 208
SCREW, HHCS, 1/4-20 X 2, SS 715
CAP SCREW, HEX, 1/4-20 X 3, SS 12
HCS, SS, 5/16-18 X 3/4 151
HCS, SS,  5/16-18 X 1 194
CAP SCREW, HEX,  5/16-18 X 2-1/2, SS 60
CAP SCREW, HEX, 5/16-18 X 3, SS 21
CAP SCREW, HEX, 5/16-18 X 3-1/2, SS 21
CAP SCREW, HEX, 5/16-18 X 4, SS 23
CAP SCREW, HEX, 3/8-16 X 3/4, SS 18-8 3258
SCREW, HHCS, 3/8-16 X 7/8, SS 289
CAP SCREW, 3/8-16 X 1 UNC 83
CAP SCREW, HEX,  3/8-16 X 1-1/8, SS 100
CAP SCREW,  HEX,  3/8-16 X 1-1/2, SS 60
HCS, SS, 3/8-16X1-3/4 399
CAP SCREW, HEX, 3/8-16 X 2, SS 50
SCREW, HHCS, 3/8-16 X 2-1/4, 18-8 SS 190
HCS, SS, 3/8-16X2 1/2 266
CAP SCREW, HEX,  3/8-16 X 2-3/4, SS 20
SCREW, HHCS, 1/2-13 X 3/4, SS 84
CAP SCREW, HEX, 1/2-13 X 1 1/2, SS 31
CAP SCREW, HEX, 1/2-13 X 1-3/4, SS 1
CAP SCREW, HEX, 1/2-13 X 4-1/2, SS 1
NUT, HEX, 8-32, CT, SS 521
NUT, SS,  MS, 10-24 124
NUT, S/S MS, 10-32 1205
FHN,  SS, 1/4-20 1787
FHN,  SS, 5/16-18 474
NYLOCK NUT, HEX, 1/2-13 33
NUT JAM, 18-8 SS, 1/4"-20 44
NUT, NYLON, 10-32 UNF, SS 18-8 283
Nut, SS, NYLOCK1/4-20 109
NUT, LOCK, NYLON INSERT, 3/8-16 34
NYLOCK NUT, HEX, 1/2-13 23
FW, SS, #8 587
WASHER, FLAT, #8 SS 100
FW, SS, #10, .218x.437 98
WASHER, FLAT, #12 18-8, SS (96659A103) 81
FW, SS, 1/4 X 5/8 OD 232
FW, SS, 1/4 X 5/8 OD 232
FW, SS, 5/16 X 3/4 OD 2080
FW, SS, 3/8 X 7/8OD 161
WASHER, FLAT,  3/8 X 1 X 13/32 X .050, 18-8 SS 156
WASHER, FLAT, 1/2 SS 89
WASHER, #6 SPLIT LOCK, SS 276
WASHER, LOCK, #8,  SS 304 172
LW, SS, 1/4 561
LW, SS, 3/8 300
WASHER, LOCK, 1/2 SS 37
SCREW, 6-32 X 3/8 5
MACHINE SCREW, FH, 1/4-20 X 3, SS 26
MACHINE SCREW, Slotted, 1/4-20 X 1-3/4, SS 57
MACHINE SCREW, PAN HEAD, 5/16-18 X 2-1/2, SS 106
MACHINE SCREW, Slotted, 1/4-20 X 1-1/4, SS 14
SCREW, MACHINE, PAN HEAD, STAINLESS 
STEEL, 6-32 X 3/8 1096
MACHINE SCREW, PH, PHILLIPS, #8-32 X 1/2, SS 68
MACHINE SCREW, PH, PHILLIPS, #8-32 X 3/4 207
MACHINE SCREW, PH, PHILLIPS, #8-32 X 1 70
MACHINE SCREW, PH, PHILLIPS, # 08-32 X 1-1/2 88
SCREW, PAN HEAD MACHINE, STAINLESS 
STEEL, 6-32 X 1/2 193
MACHINE SCREW, PH, PHILLIPS, #10-32 X 5/8 SS 536
PPHMS, SS, 10-32 x 3/4 583
MACHINE SCREW, PH, PHILLIPS, #10-32 X 1, SS 603
MACHINE SCREW, PAN HEAD, PHILLIPS, 10-32 X 
2 SS PPH MS 45
MACHINE SCREW, PH, 1/4-20 X 1-1/2, SS 402
MACHINE SCREW, PH, 1/4-20 X 2, SS 70
MACHINE SCREW, PH, 1/4-20 X 2-1/2, SS 39
MACHINE SCREW, PHILLIPS, FLAT HEAD, 6-32 x 
1/2, SS 100
MACHINE SCREW, PHILLIPS, FH, #8-32 X 1/2 SS 93
MACHINE SCREW, PHILLIPS, FH, 1/4-20 X .5, SS 50
1/4"-20 X 3/4" SS FPHMS SCREWS 30
MACHINE SCREW,PHILLIPS, FH, 1/4-20 X 1 11
MACHINE SCREW, PH, 1/4-20 X 1-1/4, SS 69
MACHINE SCREW, PH, 1/4-20 X 1-1/2, SS 238
MACHINE SCREW, PH, 1/4-20 X 1-3/4, SS 19
MACHINE SCREW, PH, 1/4-20 X 2-1/2, SS 37
MACHINE SCREW, PH, 1/4-20 X 3, SS 28
MACHINE SCREW, PAN HEAD, 8-32 X 1/2, SS 172
MACHINE SCREW, PHILLIPS, OVAL HEAD,8-32 X 
1 1/2, SS 18-8 65
SHEET METAL SCREW, SLOT INDENTED HEX 
WASHER, 1/2 X 3/4 SS 100
CAP SCREW, SOCKET, 8-32 X 5/8, SS 496
CAP SCREW, SOCKET,  10-32 X 1/2, SS 768
CAP SCREW, SOCKET,  10-32 X 5/8 SS 96
Screw, Socket Button HD Cap, SS, 8-32 Thread, 1/2 
Length, 1 90
CAP SCREW, BUTTON HEAD SOCKET,  10-32 X 1/2 
18-8, SS 352
CAP SCREW, FLAT HEAD SOCKET,10-32 X 5/8, SS 35
NUT, HEXAGON, MACHINE SCREW, #8-32 146
NUT, FINISHED HEX, SS, 1/4"-20 86
Nut, 1/4-20, NYLOK, 316 SS 123
FERRULE, 18 AWG, INSULATED, RED, PK=500 6541
FERRULE, 16 AWG, INSULATED, BLACK, PK=500 7533



Item Description Quantity
FERRULE, 14 AWG, INSULATED, BLUE, PK=500 3895
CONNECTOR, SPC21418, 3POS 12
ANGLED BRACKET-BG/SH 40
END CLAMP-E/AL-NS 35 7
Terminal Block End Stop Din Rail              ( $ 1.2400 ) 14
QUICK WIREFOX 6 WIRE STOPPER 2
LAMPS, MINIATURE 21
WASHER, SQUARE , STEEL, 1.5" X .17" TH., .406 
HOLE, WHITE 239

SCREW, HHCS, 1/4-20 X 2-1/2, ZINC 4
CAP SCREW, HEX, 5/16-18 X 1/2 2
CAP SCREW, HEX, 5/16-18 X 3/4, CS 3
CAP SCREW, HEX, 5/16-18 X 1-1/2 3
CAP SCREW, HEX, 5/16-18 X 2-1/2 2
Cat.6A TIA-B Module 45
FERRULE, TWIN WIRE, 14 AWG, INSULATED,
BLUE, PK=500 1813

3/8-16 X 1.50" HCS CS 73
3/8-16 X 1.75" HCS CS 86
1/2-13 X 1-1/2" HCS CS 190
1/2"-13 x 2" Zinc Finish SAE J429 Grade 5 Hex Cap 
Screw 272

1/2-13 X 3-1/2" HCS CS 62
1/2"-13 x 3-3/4" Zinc Finish SAE J429 Grade 5 Hex Cap 
Screw (91247A729) 31

FERRULE, TWIN WIRE, 18 AWG, INSULATED, 
RED, PK=500 2045

SOLAR NEGATIVE MALE PLUG 32
FEMALE SOLAR CONNECTOR COUPLER 71
SOLAR UNIVERSAL FEMALE CONNECTOR 93
RJ45 SOCKET INSERT-VS-08-BU/BU-RJ45-F 5
PLC, HOT STANDBY LOADABLE 14
COVER, TERMINAL BLOCK END, D-MBKKB 2,5, 
GRAY 191
COVER, TERMINAL BLOCK SPACER, DP-MBKKB 
2,5, GRAY 45
PLATE, PARTITION, ATP-DIK 1,5 201
PLATE, PARTITION, ATP-DIKD 1,5 246
TERMINAL BLOCK, FEED THROUGH-MBKKB2,5 128
SLIDE ASSEMBLY, LEFT & RIGHT 4
NUT, LOCK, SEALING, 2, FOR USE WITH 
CONDUIT 2
Circuit Breaker Adapter (PAD13D) 64
TERMINAL BLOCK 3
TRANSFORMER 1
PANEL FEED THROUGH-QPD W 3PE2,5 M25 FC BK 12
CONNECTOR, QPD P 3PE2,5 9-14 BK 2
LABEL,TERMINAL,HORZ, WS 12/6.5, CUSTOM TB0 
to TB9 1
Terminal, three-tier, with ground 8
Terminal, three-tier, with ground 8
NUT-Q-MU M25 4
SENSOR/ACTUATOR CONNECTOR-SACC-M12MS-
4QO-O,75 33
RJ45 MALE INSERT-VS-08-ST-H21-RJ45 15
RJ45 SOCKET INSERT-VS-08-BU-RJ45-6/KA/LSA 24
LABEL, TERMINAL, DEK 5/8, NUMBERED 1-50, 
SAK 6N 9
PANEL MOUNTING FRAME-VS-A-F-IP67 1
RJ45 CONNECTOR-VS-08-RJ45-5-Q/IP20 3
RJ45 CONNECTOR-VS-08-RJ45-5-Q/IP67 6
INSERT, CONTACT, HC-M-03-MOD-BU 46
CONTACT, CRIMP, CK4,0-ED-2,50ST AG 119
CONTACT, CRIMP, CK4,0-ED-2,50BU AG 17
CONTACT INSERT HC-M-12-MOD-ST 2
CONTACT INSERT HC-M-12-MOD-BU 2
CRIMP CONTACT CK1,6-ED-0,50ST AG 100
CONTACT, CRIMP, CK1,6-ED-1,00ST AG 590
CONTACT, CRIMP, CK1,6-ED-1,00BU AG 377
HOUSING-HC-B 6-TFL-72/MIPG21S 2
RJ45 SLEEVE HOUSING-VS-08-T-RJ45/IP67 25
PANEL MOUNTING FRAME-VS-08-A-RJ45/MOD-1-
IP67 26
JUMPER, TERMINAL BLOCK, 2 WAY, 5.1MM 48
JUMPER, TERMINAL BLOCK, 2 WAY, 5.1MM 48
LABEL, DO NOT DISCONNECT UNDER LOAD 70
LABEL, PLUS 100
ANALOG INPUT, 8 POINT, RTD 2
TRANSFORMER, CURRENT 6
TERMINAL MARKERS, BLANK 3
TERMINAL, RING, 22-16 AWG, #6 STUD, RED 224
TERMINAL BLOCK, FEED THROUGH-UK-5-TWIN 34
COVER, END, D-UK 5-TWIN 45
HVT PIN CONTACT 4.0 SQ MM ASSY 94
FUSE HOLDER, 600V, 100A 8
PLUG, HOLE, 5/8", NYLON, WHITE 21
PLUG, HOLE, 3/4", NYLON, WHITE 19
HOLE PLUG, 1IN 25
BLANK TAG, 1X1 IN, 3/16 IN, 359
THREAD STUD, 316 SS 200
THREAD STUD, STEEL, 1/4-20X1 549
THREAD STUD, STEEL, 3/8-16X1 1190
SPRING NUT, CAGE STYLE 2
NIPPLE, CONDUIT, 2" X CLOSE, GALV STL 4
Flameproof Resister 270 OHM 2% 20
CABLE BOOT, BLACK 2
HEAT SHRINK, CABLE BOOT, ENTRY SEAL 27
HEAT SHRINK, CABLE BOOT, MOLDED 
POLYOLEFIN, CABLE ENTRY SEAL 19
HEAT SHRINK, CABLE BOOTS, ENTRY SEAL, 
POLYOLEFIN 26
CABLE ENTRY SEAL, CABLE 24
HEAT SHRINK CABLE BOOTS, ENTRY SEAL 22
MOUNT, ANTI-VIBRATION, 22001 SERIES 46
LIGHT INDICATOR 15-30V, 13
LIGHT INDICATOR 110-250V 88
CABLE ENTRY SEAL, CABLE 26



Item Description Quantity
HEAT SHRINK, CABLE BOOT, POYOLEFIN, RIGHT 
ANGLE, BLACK 4

CABLE ENTRY SEAL, CABLE 25
CABLE BOOT 2
BRIDGE, INSERTION, EBL 10-5 26
BUSHING, 4", NON-METALLIC 19
METER, 2.5" ELASPED TIME, 120VAC INPUT 4
TRANSFORMER, CURRENT, 200:5A WITH 80 
LEADS 6
TRANSFORMER, CURRENT, 200:5A WITH 
TERMINALS 1
LUG, 6 AWG, 2 HOLE, 1/4 STUD, LONG BARREL 71
LUG, 4 AWG, 2 HOLE, 1/4 STUD, LONG BARREL 18
Liquidtight  Cable Fitting, 3" Conduit 4
FUSE REDUCER, CLASS R 95
FUSE, 1A-250VAC, 5X 20MM ( 0217001.HXP ) 12
FUSE, 10A-250VAC, 5X 20MM ( 17010..HXP ) 20
COVER, END, D-PIK 4-PE/L/NTB 186
TERMINAL BLOCK, SENSOR/ACTUATOR DIK 1,5 50
SEPERATING PLATE-D-DEK 1,5 GN 8
TERMINAL BLOCK, SENSOR/ACTUATOR DOK 1,5 26
PANEL, PATCH, TERMINAL BOX, FL CAT5 12
TERMINAL BLOCK, FEED THROUGH-UKK 3 299
COVER, END, D-UKK 3/5 99
FIXED BRIDGE-FBRNI 10-5 6
PLATE, SEPARATING, TS-KK 3 28
BRIDGE, FIXED, FBRNI 10-5N 72
SPACER PLATE-DG-UKK 3/5 212
TERMINAL BLOCK, FEED THROUGH-UKKB 3 93
COVER, END, D-UKKB 3/5 25
PARTITION PLATE-ATP-UKKB 3 41
BLOCK, TERMINAL, DIN RAIL, UKKB 5 11
FIXED BRIDGE - FBRI 10-8 N 3
BLOCK, TERMINAL SENSOR/ACTUATOR DIKD 
1,5-TG 123
TERMINAL BLOCK, FEED THROUGH-UDK 4 73
BLOCK, TERMINAL, FEED-THROUGH, UDK 
4ULA/EK, BLUE 298

BLOCK, TERMINAL, COMPONENT, UDK 4-ULA 24 
RD/OI-U 121

COVER, END, D-UDK 4, GRAY 42
BLOCK, TERMINAL, FEED-THROUGH, UDK 3, 
GRAY 253

TERMINAL BLOCK, FEED THROUGH-UDK 4-TG 30
TRANSDUCER, VOLTAGE MEASURING- MCR-
VDC-UI-B-DC 2

MCR CURRENT MEASURING TRANSDUCER 4
SIGNAL CONDITIONER- MCR-CLP-UI-I-4 1
RELAY MODULR PR1-RSC3-LV-120AC/21 3
RELAY, 2 POLE, 24VDC, MODULE, PR1-RSC3-LDP-
24DC/2X21 3

INLINE TERMINAL IB IL AT 2/SF-PAC 4
INLINE TERMINAL IB IL AO 2/SF-PAC 1
INLINE TERMINAL IB IL 24/4B DOR 2/W-PAC 2
POWER SUPPLY QUINT-DC-UPS/24VDC/20 2
POWER SUPPLY QUINT-DC-UPS/24VDC/40 1
POWER STORAGE DEVICE QUINT-BAT//24VDC/3.
4AH 1
SUPPLY, POWER, QUINT-PS/1AC/24DC/10 3
ANTENNA CABLE- RAD-CON-MCX-N-SS 2
ANTENNA-RAD-ISM-2400-ANT-OMNI-2-1 1
POWER SUPPLY STEP-PS/1AC/12VDC/1.5 1
SCREW, MACHINE, ROUND HEAD, ZINC PLATED, 
#8-32 X 5/8" 27

CONFIGURATION MEMORY FL MEM PLUG/MRM 8
ETHERNET SWITCH-FL SWITCH SFN 8GT 5
SCREW, MACHINE, PAN HEAD, 10-32 X 5/8 28
STRAIN RELIEF, LIQUIDTIGHT, 1/2, NON-
METALLIC 1
CONNECTOR, CONDUIT, 3/4, CORD .125-.375 52
CONNECTOR, LIQUID TIGHT, STRAIN RELIEF, 
STRT, 3/4, .310-.560 16
POWER SUPPLY QUINT-PS-100-240AC/24VDC/2.5 3
SUPPLY, POWER, QUINT-PS-100-240AC/12DC/10 19
SINGLE RELAY REL-MR-60DC/21AU 1
RELAY, SING.E, REL-MR- 24DC/21HC 4
SINGLE RELAY REL-MR-110DC/21HC 2
TERMINAL BLOCK, RELAY DEK-REL-24/1/S 20
RELAY SOCKET PLC-BSC-24DC/21 15
SOCKET, RELAY, PLC-BSC-120UC/21 9
RELAY SOCKET PLC-BSC-24DC/1/ACT 5
RELAY SOCKET PLC-BSC-60DC/21 1
MODULE, RELAY, PLC-RSC-24DC/21 7
MINIATURE SOLID STATE RELAY OPT-
60DC/24DC/2 1
MINIATURE SOLID STATE RELAY OPT-
24DC/48DC/100 6

PLC-OSC-120UC/24DC/2, PLC INTERFACE 2
BRIDGE, CONTINUOUS PLUG IN - FBST 500-PLC 
BU 14
BRIDGE, CONTINUOUS PLUG-IN, FBST 500-PLC 
GY 16
PLATE, SEPARATING, PLC-ATP BK 11
RELAY SOCKET-PLC-BSP-120UC/21 1
RELAY MODULE PLC-RSC-24DC/1IC/ACT 4
MODULE, RELAY, PLC-RSC- 24DC/21HC 14
SOCKET, RELAY, PLC-BSC- 24DC/21HC 4
PLC-BSC-120UC/21HC Relay Base 2
RELAY MODULE PLC-OSC-120UC/230AC/1 4
MINIATURE SOLID STATE RELAY OPT-
24DC/230AC/1 6

SPLICE, BUTT, 12-10 AWG, CU/SN 49
RING, SELF HEALING 1
Tungston Carbide Hole Saw, 1-7/8" 2
RIGID CONDUIT COUPLING, 1 IN, STEEL 4
Cord Connector Locknut Nylon 1/2" 5
Cord Connector Locknut Nylon 3/4" 5
OPTICAL INTERFACE 8
BETA CAMP ASSEMBLY, SINGLE, 5/8" TUBE 8



Item Description Quantity
CLAMP, CUSHIONED, EPDM, DIA 1/4 IN PK=25 94
CLAMP, CUSHIONED, 3/8 IN 101
CLAMP, CUSHIONED EPDM, DIA 1/2 IN, PK=25 40
CLAMP, CUSHIONED EPDM, DIA 1/2 IN, PK=25 40
CLAMP CUSHIONED EPDM,Dia. 3/4 In PK=25 59
CLAMP, CUSHIONED, EPDM,DIA. 1 In,PKG 25 25
CLAMP, CUSHIONED EPDM DIA 1 1/4 PACK=10 25
CLAMP, CUSHIONED EPDM, DIA 1 1/2 PACK=10 28
CONNECTOR, LIQUID TIGHT, 90 DEGREES, 1/2 IN 4
BLOCK, TERMINAL, INSTALLATION LEVEL, PIK 
4-L/LB 86
END COVER D-UK 2,5 51
TEST PLUG PS-UK 2,5 B/Z-5 88
BLOCK, TERMINAL, FEED-THROUGH, UK 3 N 470
TERMINAL BLOCK, PICK OFF, AGK 10-UKH 50 40
TERMINAL BLOCK, FEED THROUGH-UK 3 TWIN 79
END COVER D-UK 3 RETURN 57
TERMINAL BLOCK, FEED THROUGH-UK 5 
RETURN 32

COVER, END, D-UK 4/10 15
PLATE, PARTITION, ATP-UK 399
TERMINAL BLOCK, FEED THROUGH-UK 2,5 N BU 3
TERMINAL BLOCK, FEED THROUGH-MBKKB 2,5-
2DIO/O-UL/O-UR 275
TERMINAL BLOCK, GROUND MODULAR USLKG 
10 N 48

BLOCK, TERMINAL, FUSE MODULAR, UK 5-HESI 736
BLOCK, TERMINAL, FEED-THROUGH, UK 5 N 118
BLOCK, TERMINAL, FEED-THROUGH, UK 6 N 24
TERMINAL BLOCK, FEED THROUGH-UK 10 N 3
BLOCK, TERMINAL, FEED-THROUGH, UK 10-
TWIN 16
BRIDGE, PLUG-IN, FBS 2-16 30
BLOCK, TERMINAL, FUSE MODULAR, UKK 5-
HESI (5X20) 78
BLOCK, TERMINAL, FUSE MODULAR, UKK 5-
HESI (5X20) 78

BLOCK, TERMINAL, FEED-THROUGH, UK 35 13
PLATE, PARTITION, TP-UK 35 4
TERMINAL BLOCK, FEED THROUGH-UKH 50 24
INSERTION BRIDGE,  TERMINAL BLOCK, 
INSULATED, GRAY 18

TERMINAL BLOCK, SENSOR/ACTUATOR-DOKD 
1,5-TG 137
LENS FOR T-2 SLIDE BASE 1
BLOCK, TERMINAL, DISCONNECT, UK 4-T 42
BRIDGE, PLUG-IN, FBS 10-5 10
BRIDGE, PLUG-IN, FBS 4-8 16
BRIDGE, PLUG IN FBS 20-6 53
TERMINAL BLOCK, GROUND MODULAR - UT 2,5-
PE 7

TERMINAL BLOCK, UT4 16
TERMINAL BLOCK, FEED THROUGH-UT 6 BU 3
BLOCK, TERMINAL, FEED-THROUGH, UT 10 3
BLOCK, TERMINAL, FEED-THROUGH, UT 35 41
BLOCK, TERMINAL, FEED-THROUGH, UT 4-TWIN 88
BLOCK, TERMINAL, FEED-THROUGH, UT 2,5-
TWIN 50

BLOCK, TERMINAL, FEED-THROUGH, UT 2,5-
TWIN-PE 45
TERMINAL BLOCK, FEED THROUGH-UT 2,5-
QUATTRO 50

BLOCK, TERMINAL, DOUBLE-LEVEL, UTTB 2,5 1
TERMINAL BLOCK, FEED THROUGH-UTTB 4-PE 1
BLOCK, TERMINAL, FUSE MODULAR, UT 4-HESI 
(5X20) 63
TERMINAL BLOCK, FUSE MODULAR-UT 6-HESI 
(6,3X32) 1

TERMINAL BLOCK, KNIFE DISCONNECT-UTTB 4-
MT P/P LA 24 RD/O-U 2
COVER, END, D-UT 2,5/10 1
BRIDGE, REDUCING, RB UT 10-(2,5/4) 36
END COVER, FOR UT2,5-MT, GRAY 134
PLATE, PARTITION, ATP-UT 101
COVER, END, D-UT 2,5/4-QUATTRO 9
PLATE, PARTITION, ATP-UT-TWIN 80
COVER, END, D-UT-16 37
COVER, END, D-UTTB 2,5/4 4
PLATE, PARTITION, ATP-UTTB 2,5/4 4
END COVER D-RSC 5 14
BLOCK, TERMINAL, FEED-THROUGH, BOLT 
CONNECTION, RBO 5, GRAY 80
BLOCK, TERMINAL, TEST DISCONNECT, RBO 5-T 90
FIXED BRIDGE FB10-9 31
TERMINAL BLOCKS, DIN RAIL, 26-12AWG, 20A 100
TERMINAL BLOCK, THERMOCOUPLE MTKD-
FE/CUNI 88
TERMINAL BLOCK, THERMOCOUPLE MTKD-
NICR/NI 30

BLOCK, TERMINAL, KNIFE DISCONNECT, MTK 9
COVER, END, D-MTK 208
GRINDING WHEEL ZA24T # 16785 1
Terminal, Ring, #6 Stud, 16-22 AWG, Crimp 920
BRIDGE, FIXED - FBI 2-20 N 6
MULTI-LEVEL TERMINAL BLOCK - UT 2,5-3L 2
KIT,SHORT CIRCUIT,CURRENT XFMR, CARRIER 
35-13 KIT, PK=50 40

LOOP CLAMP, RUBBER CUSHIONED, 1/4, PK=25 53
LOOP CLAMP, RUBBER CUSHIONED, 3/8, PK=25 23
CLAMP, LOOP, 2" OUTSIDE DIA., SS 300 SERIES, 
EPDM CUSHION 136
CLAMP, LOOP, 1/2" OUTSIDE DIA., ZN PLTD, 
EPDM CUSHION 55
LOOP CLAMP, RUBBER CUSHIONED, 5/8, PK=25 14
CLAMP, LOOP, 3/4" OUTSIDE DIA., ZN PLTD, 
EPDM CUSHION 854
LOOP CLAMP, RUBBER CUSHIONED, 1, PK=25 28
WASHER, FLAT, USS, 3/8, ZN PLTD 3685
WASHER, FLAT, 1/2, ZN PLTD 1332
WASHER, FLAT, 5/8, ZN PLTD 244



Item Description Quantity

WASHER, LOCK, SPLIT, 1/2, YELLOW ZN PLTD 161
Glastic Isolator 20
NUT, HEX, 1/2-13, ZN PLTD 49
PAWL ASSEMBLY 6
NUT, FINISH HEX 5/8 Z5 300
CIRCULAR MIL-SPEC BACKSHELLS, SUB CBL 
SEAL 50
HEAT SHRINK, 19.8MM ID, CABLE BOOT, Y 
TRANS, POLYLFN, BLACK 6

HEAT SHRINK, CABLE BOOT, Y TRANS, 
POLYMER FLEX, BLACK 1

CABLE BOOT, MOLDED PART, BREAKOUT 9
Relay; E-Mech; Gen-Purp; DPDT; Cur-Rtg 25A; Ctrl-V 
24DC; Vol 6

TERMINAL, TBS, 10 3
TERMINAL BLOCK, 8 POS, 14.3mm, 30A 5
Terminal, Ring, 12-10AWG, Yellow, 50 per pack 100
CONNECTOR, 2 SCREW, 1-1/2 SIZE 2
LUG, 1/0, SN/AL, 1 Hole 3/8 6
SLEEVE, WIRE MARK, 2 X .851 POLY, WHITE, 
ROL=250 EA 1
RELAY, CONTACTOR 110VAC COIL, 2NO/2NC, 4-
Pole, DIN RAIL 4

CONTACTOR RELAY LATCHED, 120 VAC, 2 NO+2 
NC, 50/60HZ 1
TIMER, ON DELAY 1
SURGE SUPPRESSOR 4
PUSHBUTTON, MAINTAINED, YELLOW, 40MM, 
OP, ROUND-PLASTIC 2

ACTUATOR-/INDICATOR COMPONENT CONTACT 
BLOCK WITH 2 CONTACTS 2

ENCLOSURE FOR COMMAND DEVICES, 22MM, 1 
COMMAND POSITION, UNE 2

TERMINAL KIT 1
5 POLE RELAY 1
BRUSHES, CHIP, 1 IN, INDUSTRIAL GRADE 37
BALL VALVE, SSTUBE X TUBE, 3/8 1
Locknut, 2" 18
Locknut, 3-1/2" 4
AXIAL FAN, 24VDC, 119mm 2
ALLEN BRADLEY SAFETY RELAY 2
AXIAL FAN 24VDC 119mm 2
AXIAL FAN 24VDC 119mm 1
LOW-PRESSURE BRASS THREADED PIPE FITTING 
1/2 PIPE SZ COUPLIN 2

HEX BUSHING, 3/4" NPTM x 1/2" NPTF, 304 SS 6
STANDARD-WALL BRASS THREAD PIPE NIPPLE, 
1/2 PIPE SZ x 1-1/8L 2

AXIAL FAN 115VAC 119mm 1
TRANSFORMER, VOLTAGE 8
WALL JACK, TELEPHONE,STANDARD, 6P4C, 
IVORY 49
VIBRATONE HORN, 120VAC, 0.18AC, GRAY 1
WIRE MARKER, .25X1.5, 0-49, 150/CARD 2
CEMENT ANCHORS, 5/16 50
CHUCK, 3/8, COPPER ALLOY 6
MOLEX, CONNECTOR CONTACT, SKT, WIRE 
TERMINAL 20

FERRULE GRIP, 3/8 IN 5
ST-K 4 40
254X LAPPING FILM 110
263X  LAPPING FILM 211
CONNECTOR, 15A, 125 VOLT, 2POLE, YELLOW 25
PLUG AND SOCKET CONNECTOR HOUSING, 
MOLEX 3

PLUG AND SOCKET CONNECTOR HOUSING, 
MOLEX 3

RECEPTACLE, 2 POLE, 3 WIRE, ORANGE 1
CONNECTOR, HARD SERVICE CORD 3
CONTACT BLOCK 1 NO 4
CONTACT BLOCK, 1NO/1NC 1
LEGEND PLATES 2
LEGEND PLATES, START 4
LEGEND PLATES, STOP 6
LIGHT, PILOT, METAL, NO LENS, 120V, INCAN 
BULB 1
PUSHBUTTON, METAL, 2 POSITION, 1NO-1NC, 
RED 1
LENS, ACCESSORY, KIT, PLASTIC,RED 5
LENS FOR INDICATOR, WHITE 3
SELECTOR OPERATOR 2 POS A CAM LONG 
LEVER 4

BATTERY HOLDER FOR CR2032 4
FITTING. BRASS BARBED HOSE, 1/4" HOSE ID x 
1/4" N, PK/10 10

FITTING. BRASS BARBED HOSE, 1/4" HOSE ID x 
1/4" N, PK/10 10

Brass Barbed Elbow, 90 Degree Elbow for 1/4" Hose ID 
x 1/4" 1

FITTING, HOSE, BARB, ELBOW, 90 DEG, 1/8" 
MALE X 3/8", BRASS 4
OCTAGON BOX 5
Worm-Drive Hose Clamp with Zinc-Plated Steel Screw, 
13/16" t 3

TRANSFORMER, CURRENT 3
LUG, 600 kcmil, 2 HOLE, 1/2" STUD, LONG BARREL 4
LUG, 700MCM, 2 HOLE, NARROW TONGUE 3
LUG, 14-10 AWG, 1 HOLE, 1/4" STUD, LONG 
BARREL 33
LUG, 250 kcmil, 1 HOLE, 1/2" STUD, LONG BARREL 3
LUG, 300 MCM, CU/SN, 1-Hole 1/2  ( 5.9600 ) 20
LUG, 400 MCM, 1 Hole,  CU/SN,  LONG BARREL 4
LUG, 600 MCM, 1 Hole,  CU/SN,  LONG BARREL 6
LUG, 8 AWG, 1 HOLE, 1/4" STUD, LONG BARREL 24
MICROPHONE, DYNAMIC, DESKTOP 2
OPTOCOUPLER PLC-OSC-120UC 48DC/100 CID2 27
SOCKET, EMG30-SD/US/15A 3
SEMICONDUCTOR DEVICE DIODE 4
HEAT SHRINK, LABEL TAPE, 1/4" X 5', 
POLYOLEFIN, WHITE 3



Item Description Quantity
CONNECTOR, 1/2 CONDUIT, 90 DEGREE, 2.5L, 
STRAIN RELIEF 14
CONNECTOR, 3/4 CONDUIT, 90 DEGREE, 2.81L, 
STRAIN RELIEF 4
LOCK NUT, PG 11 THREAD, NICKEL-PLATED 
BRASS 97
RNG VNL BS, 12-10 1/4 50
DSN30 HANDLE 1
AXIAL FAN 24VDC, 60mm 1
RELAY, 15A CTR-V 120 VAC 277/28VAC/DC 2
Receptacle / Connector 1
AXIAL FAN 24VDC 172mm 6
14V RED LIGHT LAMP 2
CABLE TIE, 11-9/16", WHITE, NYLON W/SS LOCK 3
CABLE TIE, 14-3/16", WHITE, NYLON W/SS LOCK 15
TERMINAL BLOCK, 670A GP SERIES DOUBLE 
ROW 1
Insulated Cable Clamps, 1/2" 25
CABLE TIE, NYLON, 1.125- 28.575 MM 6. 150
CONNECTOR, CORD, LIQUID TIGHT, STRAIGHT, 
3/8" NPT, BLK NYLON 4
CONNECTOR, CORD, LIQUID TIGHT, 1/2" NPT, 
BLK NYLON 2
CONNECTOR, CORD, LIQUID TIGHT, STRAIGHT, 
3/4" NPT, BLK NYLON 6
LOGO! DM8 230R, EXP. MODULE, PU/I/O: 
230V/230V/RELAIS, 2TE 1

POWER SUPPLY, WL 24V/2.5A ETU/COMM 3
UNIVERSAL TERMINAL MODULE 8
ET 200S Terminating Module 2
DIG OP, 16 DO, 24V DC,TRANSISTOR 0.5A, 
SIMATIC S7-1200 3
RTD MODULE, SIMATIC S7-1200, ANALOG INPUT, 
SM 1231, 4 X AI 5
DIN RAIL, SIMATIC S7-300, L=530MM 2
CONNECTOR, BUS, 15,8 X 64 X 35,6 MM (WXHXD) 5
ETHERNET SWITCH, OSM ITP62 WITH DITIGAL 
INPUTS, PORT 7 OR 8 1
RJ45 STRAIGHT CONNECTOR 5
FAST CONNECT (FL) OUTLET,  RJ45 2
VOLTAGE CARD, 1 MARKER, 480 VOLTS 8
VOLTAGE CARD, 1 MARKER, 120/208 VOLTS 8
HANGER, STEEL, ACCOM 1/2 THRU 4 EMT OR 
RIGID CONDUIT 15
HANGER, CONDUIT, 1/2 EMT 92
SNAP SWITCH, 15A, SPDT, PANEL MOUNT 
PLUNGER 8
SWITCH BOX, 1 GANG 1
STRIP TERMINAL, 200 SERIES, 4 POLE, BLACK 3
HCS, SS, 1/4-20 X 1 421
SCREW, HHCS, 1/4-20 X2 1/4 18-8 SS 61
SCREW, HHCS, 1/4-20 X 2 1/2, 18-8 SS 22
SCREW, HHCS, 1/4-20 X 3, 18-8 SS 21
POTENTIOMETER, 2W, 100 OHMS, P/N 
RV4NAYSD101A 3

RELAY BASE 2
RELAY BASE 1
TIMING RELAY 1
CAPSCREW, HEX, 3/8-16 X 1/2, SS 18-8 124
SCREW, HHCS, 3/8-16 X 5/8, 18-8 SS 50
CAPSCREW, HEX, 3/8-16 X 1-1/2, SS 18-8 566
CAPSCREW, HEX, 3/8-16 X 2, SS 18-8 357
CAPSCREW, HEX, 1/2-13 X 1, SS 18-8 63
MODIFIED ROUND ROCKER SWITCH WITH 6 
TABS 79
SCREW, HHCS, 1/2-13 X 1-3/8, SS 50
SCREW, HHCS, 1/2-13 X 2-1/2, 18-8 SS 22
SCREW, HHCS, 1/2-13 X 4 1/2,  SS 37
SCREW, HHCS, 1/2-20 X 1, SS 4
SCREW, HHCS, 1/2-20 X 3-1/8, SS 50
NUT, HEX, #10-32, SS 18-8 2260
W-21 CBL ASSM 3
FLAT WASHER, SMALL OD, 18-8 SS, #4 64
WASHER, FLAT, SMALL OD, #6, SS 18-8 1515
FW, SS, #8 37
WASHER, FLAT, SMALL OD, #10, SS 18-8 355
SPLIT LOCK WASHER, MEDIUM, 18-8 SS, #4 1487
LW, SS, 5/16 1000
LW, SS, 3/8 475
RING TERMINAL, STANDARD, NONINSULATED, 6 
AWG, SCREW 25/PK 34
HEAT SHRINK, 3/8" SZ, CHEMICAL RESIST PVC 
TUBING, 25 FT 1
HEAT SHRINK, 1/2 X 25 FT, CHEMICAL 
RESISTANT, PVC TUBING 1
HEAT SHRINK, 3/4 X 25', PVC PLASTIC, TUBING, 2:
1 RATIO, COLR 1
DRS ARMOR REMOTE GAMBER-JOHNSON LLC 1
RELAY, SOLID STATE, 4-30VDC, 10A 2
SCREW, PAN HEAD, PHILLIPS, MACHINE, #10-32 
X 1 1/2, SS 18-8 39
PPHM, S/S, 1/4-20 x 3/4/ 323
PPHMS, S/S, 1/4-20 x 1 166
MACHINE SCREW, PHILLIPS, FLAT HEAD, 8-32 X 
1-3/4, SS 109
PPHMS, S/S, 1/4-20 X 3/4 75
MACHINE SCREW, FH, PHILLIPS, #10-32 X 7/16 18-
8 SS 126

FH Phillips Mach Screw, 18-8 SS, 1/4"-20 thred, 1-1/4" 
lngth 191

MACHINE SCREW, FH, PHILLIPS, 1/-20 X 1-3/4, 18-
8 SS 25

3-8-24X1/2 HEX DRIVE CUP PT 18-8 SS SOCKET 
SET SCREW 106

CAP SCREW, HEX, 10-24 X 1, SS 38
CAP SCREW, SOCKET,  10-32 X 7/8, SS 100
S/S BHSCS 10-32 x 5/8" 198
CAP SCREW, BUTTON HEAD SOCKET, 1/4-20 X 
3/4, SS 20
SCREW, BUTTON SOCKET CAP, STAINLESS 
STEEL, 5/16-18 x 1 12



Item Description Quantity

CAP SCREW, SOCKET, 3/8-16 X 1/2, SS 4
CAP SCREW, FLAT SOCKET, 3/8-16 X 3/4, SS 15
GROMMET, RUBBER, 1/2 8
SINGLE RELAY REL-MR-110DC/21HC 2
CAP SCREW, HEX, 3/8-16 X 1-1/4, BRASS 8
COUPLING, CONDUIT, 1" TRADE SIZE, ZN PLTD 
IRON 4
WASHER, FLAT, 3/8, BRASS 8
MACHINE SCREW, SLOTTED, ROUND HEAD, 10-
24 X 1, BRASS 38
ADHESIVE, LOCTITE 20251, .85 OZ SYRINGE & .
88OZ ACTIVATOR 2
HOLDER, CABLE TIE, 1-1/8", ADH BACK/SCREW 
MT, NYLON, WHITE 150
HOLDER, CABLE TIE, 1-1/2", ADH BACK/SCREW 
MT, NYLON, WHITE 222
SHRINK BOOT, SERIES 77, ANGLED 22
SHRINK BOOT, SERIES 77, STRAIGHT 1
THICK-WALL SEAMLESS STEEL THREADED PIPE 
NIPPLE, 1" NPT 8

WASHER, FLAT, SS 316, 0.156 X0.312 4
Washer, Flat, Narrow, #10 1034
HEAT SHRINK, 1" ID X 48", POLYOLEFIN, PASTIC, 
2:1RATIO BLACK 2
HEAT SHRINK, 1/4 X 48, FLAME-RETAR, POLY, 
BLACK, EA=4 FT 27
HEAT SHRINK, 3/8, POLYOLEFIN TUBING, 
BLACK,  4 FT 2
HEAT SHRINK, 1/2,  POLYOLEFIN TUBING, 
BLACK, 4 FT  2
End plate for 161527 8
HARDWARE, OUTSWING DOOR 7
RESISTOR HARDWARE, THRU-BOLT HARDWARE 
225W 8
RISE INSERT SLEEVE 14/8 3
RISE INSERT SLEEVE 16/10 3
RISE INSERT SLEEVE 18/12 37
RISE INSERT SLEEVE 20/14 25
RISE INSERT SLEEVE 22/16 7
RISE INSERT SLEEVE 27/19 57
RISE INSERT SLEEVE 31/23 14
RISE INSERT SLEEVE 35/27 16
LARGE SQUARE BEZEL 8
LOCKING WASHER 8
MOM PUSH BUTTON 8
FULL VOLTAGE MODULE 120V 10
TAP & DRILL SET, 1/4-20NC, HSS 1
UNINSULATED RING LUG 250
DUPLEX, LC/LC MM, 62.5, 1M (OFNP) 1
CONNECTOR, CORD, LIQTIGHT, 1/2" NPT X .25"-.
38",  GRAY NYLON 5

Liquid Tight Straight Cord Grip (Steel) 1
TERMINAL, RING, #12-#10 AWG 1/4 STUD 15
Plastic Edge Trim, Serrated, 1/16" Inside Width, 5/32" 
Insid 25

Plastic Edge Trim, Serrated, 1/8" Inside Width, 11/64" 
Insid 25

RELAY SOCKET, 10A 3
RELAY, 240VAC, 12A 78
RELAY, 24VDC DPDT 6
STD STR M/SPNG/PSA .125 X .500 55
CONTACTOR, 3PST-NO, 30A, 120AC 2
GLASS LENS AMBER 2
PLASTIC LENS GREEN 5
SWITCH CAMS 5
SWITCH CAM 10
PLUG, 30mm 3
CONTACT BLOCK, 1NO-1NC 28
BLOCK, CONTACT, 1 NO, PROTECTED 
TERMINALS, SILVER ALLOY 21
BLOCK, CONTACT, 1 NC, PROTECTED 
TERMINALS, SILVER ALLOY 29
PLATE, SQUARE LEGEND, BLACK 
BACKGROUND, "MOTOR STOP" 8
LEGEND PLATE, 90MM, E-STOP 4
PUSHBUTTON, EMERGENCY STOP, RED, 
TRIGGER ACTION/TURN RELEASE 8
PUSHBUTTON, BLACK, FLUSH, 2-NO, 30mm, 
MOUNTING 8
PUSHBUTTON, MUSHROOM, OPERATOR 2
9001KS11B 5
ENCLOSURE, CONTROL STATION, 1 CUT-OUT, 
ALUM 68

PLASTIC LENS BLUE 1
GLASS LENS RED 3
LAMP 4
PUSHBUTTON 4
SELECTOR SWITCH, 30MM, 2 POSITION 4
LOCKNUT, HEX, THIN, NYLON-INSERT, #6-32, 
100/PK 160
NUT, NYLON-INSERT, #8-32, 100/PK 125
NUT, HEX, NYLON INSERT, THIN, #10-32, SS 18-8, 
50/PK 101
316 SS Flat Washer, Number 6 Screw Size 100/PK 108
WASHER, FLAT, 1/4", SS 316, 100/PK 100
WASHER, FLAT, 5/16", STL, ZN PLTD, 100/PK 58  
LAG SCREW, HEX HEAD, 1/4" 2.00"LG, 10/PK 5
WASHER, FLAT, #10, ZINC PLATED STEEL, 100/PK 92
SCREW, SKT HD CAP, #10-32 X 1" LG 25/PK 67
WASHER, FLAT, BLIND RIVET, STAINLESS STEEL 49
ALUMINUM HANDLE, PUSH BUTTON QUICK 
RELEASE PIN 4
ALUMINUM HANDLE, PUSH BUTTON QUICK 
RELEASE PIN 2
HEX WASHER SCREW, #6-32 X 1/4" LG 255
SCREW, MACHINE, HEX WASHER HEAD, 
CLOTTED, 1/4-20 X 3/4 LG, S 25
SCREW, SEMS, PPHD, M3 X 5MM LG 31
ELECTRICAL TIMING RELAY, SQUARE D 1
RELAY, TIMER, 240VAC, 10A, T-JCK 1



Item Description Quantity
HEX NUT, NYLON-INSERT 4-40 1/4, ZINC TREDED 
GRADE 2-STEEL 395
NUT, HEX, 1/4"-20, SS 300 SERIES 60
END BARRIER 99
SCREW, PPHMS, SEALING, 10-32 X 5/8, SS, 5/PK 38
SCREW, PPHMS, SEALING, 1/4-20 X 3/4, SS, 5/PK 3
SCREW, PPHMS, SEALING, 4-40 X 1/2, SS, 10/PK 54
WASHER, SPLIT LOCK, #10, Z-PLTD STL, 100 PER 
PACK 175
WASHER, LOCK, SPLIT, 5/16", ZN PLTD, 100/PK 62
5/8" ZINC LOCK WASHER 35
ASK1 fuse terminal, BFI, Hinge + 5
NUT, HEX, #4-40, SS SERIES 300 , PK=25 EA 153
NUT, HEX, MACHINE, #6-32, SS SERIES 300, PK=25 
EA 20
NUT, HEX, MACHINE SCREW, #10-32, SS 300 
SERIES 80
SCREW, SEMS, #4-40 X 1/2" LG (PK=25) 60
SCREW, SEMS, #6-32 X 1/4" LG (PK=25) 29
SCREW, SEMS, #6-32 X .375" LG (PK=25) 7
SCREW, SEMS, #6-32 X 1/2" LG (PK=25) 26
SCREW, SEMS, #6-32 X 5/8" LG (PK=25) 34
SCREW, SEMS, #8-32 X 3/8" LG (PK=25) 56
SCREW, SEMS, #8-32 X 5/8" LG (PK=25) 34
SCREW, SEMS. #10-32 X 1/2" LG (PK=25) 13
CAPSCREW, HEX, 1/4"-20 X 1-1/4", GR 5 ZN PLTD 100
CAPSCREW, HEX, 3/8"-16 X 2", GR 5 ZN PLTD, 
25/pk 11
BOLT, GR5, LG, 3/8" - 16 X 2 1/2 25
SCREW, PAN HD, PHILLIPS, #4-40 X 1/4", SS 300 
SERIES 368
SCREW, MACH, PAN HEAD PHIL, 300 CRES, #1, 4-
40, 1/2 IN 358
SCREW, PAN HD, PHILLIPS, #6-32 X 3/4", SS 300 
SERIES 52

WASHER, LOCK, SPLIT, #6, SS-300, PK=100 EA 100
WASHER, LOCK, SPLIT, #8, SS-300, PK=100 EA 93
WASHER, LOCK, #10 186
FLAT WASHER, 316 SS, NO 10, 3/4" OD, 0.03"-0.05" 
THICK 50/PK 22

316 SS Pan Head Phillips Machine Screw, 6-32 
THREAD 50/PK 212

SCREW, MACHINE, PAN HEAD PHILLIPS, 10-
32X1/2 LG 228

SCREW, FLAT HD, PHILLIPS, #8-32 X 1/2", SS 18-8 76
SCREW, FPHD, 82 DEG., #8-32 X 2" LG (PK=50) 52
SCREW, FLAT HD, PHILLIPS, 1/4"-20 X 1-1/4", SS 
18-8 23
SCREW, FLAT HD, PHILLIPS, 1/4"-20 X 1-3/4", SS 
18-8 3

SCREW, FLAT HD, PHILLIPS, 5/16"-18 X 1-1/4", SS 
18-8 2
SCREW, FLAT HD, PHILLIPS, #10-32 X 7/16", SS 18-
8 410

NUT, NYLON LOCK, #2-56 143
NuT Hex 8-32" 18-8 SS 272
NUT, HEX, 5/16"-18, SS 18-8 94
NUT, HEX, 3/8-24, SS, PK=100 55
NUT, ACORN, 3/8"-16, SS 18-8 7
WASHER, LOCK, SPLIT, 5/16" SS 18-8 196
316 SS Split Lock Washer, Number 6 Screw SIZE 
100/PK 229

WASHER, SPLIT, LOCK, #10, SS 316 254
EXTERNAL TOOTH LOCK WASHER, 5/16" 118
SCREW, SOCKET HEAD CAP, #10-32 X 7/16" L 95
CAPSCREW, SOCKET HD, #8-32 X 7/16", SS 300 
SERIES 130
SCREW, SKT HD CAP, #8-32 X 1/2" LG 184
SCREW, MACHINE, SOCKET HD, SS 1/4-20 X 1/2, 
PK=50 30
CAPSCREW, SOCKET HD, 1/4"-20 X 3/4", SS 300 
SERIES 50
SOCKET HEAD CAP SCREW, #10-32 X 5/8" LG 23
SCREW, HEX HEAD CAP, 1/4"-20 X 3/4, 18-3, SS, 
50/PK 8
SCREW, HEX HEAD CAP, SS, MILSPEC, 1/4" - 20 X 
3/4 20
CAPSCREW, HEX,1/4"-20  X 1-1/4", SS 300 SERIES 20
SCREW, STEEL CAP, GRADE 8, 5/16-24 X 1 1/4 18
CAPSCREW, HEX, 5/8"-11 X 2", GR 8 YELLOW ZN 14
NUT, HEX, 5/16"-18 120
CAPSCREW, HEX, 5/16"-18 X 3/4", GR 5 ZN PLTD, 
100/PK 99
CAPSCREW, BUTTON HD, SOCKET, #10-32 X 3/4", 
SS 18-8 19
CAPSCREW, BUTTON HD, SOCKET, 1/4"-20 X 3/4", 
SS 18-8 49
SCREW, FLAT HD, PHILLIPS, #10-32 X 7/16", SS 18-
8 4
PHILLIPS FLAT HEAD MACHINE SCREW, 100 
DEGREE, #6-32 X 7/16" 72
PHILLIPS FLAT HEAD MACHINE SCREW, 100 
DEGREE, #8-32 X 3/8" L 55
PHILLIPS FLAT HEAD MACHINE SCREW, 100 
DEGREE, #8-32 X 7/16" 36
PHILLIPS FLAT HEAD MACHINE SCREW, 100 
DEG, #8-32 X 5/8" LG 116
PHILLIPS FLAT HEAD MACHINE SCREW, 100 
DEGREE, #10-32 X 7/16" 48
PHILLIPS FLAT HEAD MACHINE SCREW, 100 
DEGREE, #10-32 X 1/2" 100
PHILLIPS FLAT HEAD MACHINE SCREW, 100 
DEG, #10-32 X 5/8" LG 93
SCREW, PFHD, 100 DEG, #10-32 X .750" LG 34
SCREW, CAP, HEX HEAD 316 SS, 1/4"-20 THREAD, 
3/4" LONG 26

SCREW, CAP, HEX HEAD, 1/4-20 X 1, 316 SS 22
BOLT, HHCS, 3/8"-16 THREAD, 1" LONG, PACK OF 
10 13

N12 Nut 4
WASHER, FLAT, 5/16" 45



Item Description Quantity
MOUNT, VIBRATION DAMPING, MALE/MALE, 
3/8"-16 X 1" X 1-9/16" 60
VIBRATION DAMPENING MOUNT 16
VIBRATION DAMPENING MOUNT 9
WASHER, NO. 10 PRESSURE SEALING 112
WASHER, FLAT, USS, 5/16", SS 18-8 50
CONNECTOR 1
Connector 1
SCREW, #8-32 x 5/8" ZINC FINISH BUTTON 
SOCKET CAP 32
LOGIC STYLE SOCKET 9
OPERATING MECHANISM CABLE MECHANISM 
NEMA 4
NUT, HEX, THIN, LH, 3/8"-24, SS 18-8 1
SPACER, NYLON, #8 SCREW X 3/8" LG 183
SPACER, UNTHREADED, 5/16" OD X 0.140" ID X 
0.250" LG 71
WASHER, FLAT, TYPE B ZINC-PLATED STEEL, 
#10, 25/PK 16
NUT, HEX, 5/8"-11, GR 8 YELLOW ZN, 25/PK 9
CAP SCREW, HEX, 3/8-16 X 3, YELLOW ZINC, SAE 
GRADE 5 12
SCREW, SEMS, #2-56 X 5/8" LG 20
SCREW, SEMS, #2-56 X .750" LG 16
SCREW, SEMS, #10-32 X 3/8" LG 39
NUT, HEX, 5/16"-18, GR 5 ZN PLTD 83
NUT, HEX, NYLON INSERT, 3/8"-16, GR 5 ZN PLTD, 
100/PK 652
RELAY, GENERAL PURPSE, 24VDC, 40AMP 3
CLAMP ON FITTINGS 4
NUT, HEX, 1/4-20 YZ5 292
LOCK NUT, 2 CONDUIT 2
SCREW, PAN HD, THREAD-LKG, PHILLIPS, #10-32 
X 3/8", SS 18-8 17
Washer Flat 1/4" 18-8 SS 50
WASHER, FLAT, SAE, 1/2", SS 18-8 70
NUT, HEX, NYLON INSERT, 1/4"-28, GR 8 YELLOW 
ZN 50
WASHER, FLAT, #2 1485
WASHER, FLAT, #4, SS SERIES 300, PK=500 EA 1406
WASHER, FLAT, #6, SS SERIES 300, PK=500 EA 2232
WASHER, FLAT, #8, .375"OD 334
WASHER, FLAT, #10 874
WASHER, FLAT, 1/4", .63"OD,300SS, PK=100 170
FAN, AXIAL, 115VAC 119mm 5
FAN, AXIAL, 115VAC 119mm 5
END PLATES, MCT PARTS, GALVANIZED 12
CONTACTOR, CONTACT BLOCK, 1NO, 10A, 600V 305
TERMINAL, RING, RECT, 22-18 AWG, #8, NON-
INSUL, PK=10 EA 1797
CONNECTOR, STANDARD DIN "L" 16
BARRIER, TERMINAL BLOCK END, IEC +OPTIONS 21
LIMIT SWITCHES, ABM SERIES, HEAVY DUTY, 
IEC 1
MOUNT, CABLE TIE, ADHESIVE 450
AUXILIARY CONTACT 2
3.22 x 3.25 FILTER KIT FOR AVK33 1
1 AMP MINI FUSE 50
10 AMP MINI FUSE 50
REPLACEMENT CONTACT BLOCKS 17
THREAD, RH, PRECISION ROD ENDS 1
DRIVER, 100 WATT, HORN 2
HORN, WEATHERPROOF 3
DRIVER, 100 WATT, TAPPABLE 1
JUNCTION BOX, AM SERIES JIC SIZE 12X10X6 1
JUNCTION BOX, AM SERIES JIC SIZE 6X6X4 1
CONNECTOR 2
BUTTON / TERMINAL 4
BUTTON / TERMINAL 2
C STAYPLATE 120 GALV 10
10 TO 1 PLUNGER FOR ADHESIVE GUN (WELD 
MOUNT) 2

FLUSH MNT 4 COND., 6 POS. WALL TLPH. JACK, 
SCREW TERMINAL 53
FLUSH MNT 8 COND., 8 POS. WALL TELEPHONE 
JACK 166
CPT FUSE, 1A, 600V, CC, TIME DELAY 2
3.25 x 3.25 LOUVER PLATE KIT 1
TERMINAL, RING, 18-14 AWG, #10, NON-INSUL, 
PK=100 EA 180

NIPPLE, CHASE, 1 2
50 OHM BNC BULKHEAD PLUG (3/8" D-HOLE) 2
BUS BAR, 12 PIN, 3 PHASE, FOR CHCC FUSE 
HOLDERS 4
BUS MOUNTING KIT 6
Dixson Model BB101P Bargraph Meter, Digital Display, 
-70 to 2
DISTRIBUTION BLOCK, POWER, 500-4-1P-500-4 
SEC 11
BLOCK,POWER DISTRIBUTION, 
RUNWIRERANGEAWG 4-350 KCML 27
POLE COVER 18
Cartridge Fuses 250VAC/125VDC 1A Fast Acting 
Ceramic 9
Cartridge Fuses 250VAC/125VDC 6A Fast Acting 
Ceramic 13
CAMERA MOUNTING BRACKET 41
DOOR SWITCH ADAPTER PLATE, IDS SYSTEM 25
COMPRESSION SPRING, BARREL SHAPED, 
THREADS ON 1/4-28 BOLT 113
CAMERA MOUNTING BRACKET, MFG PER DWG 
FROM 6061 ALUMINUM 15
CAMERA MOUNTING BRACKET 5
OVERLAY, TOGGLE SWITCH 5
OVERLAY, INTERFACE PANEL 6
BUTT SPLICE, VINYL, 12-10AWG 869
LAGGING TAPE, FIBERGLASS, 2 X 50YD 3
1 NM/SEU CABLE CONNECTOR 12
FUSE CLAMP 60 AMP 250V 50
FUSE CLAMP 60 AMP 600V 29



Item Description Quantity

12 FIBER 36 LOOSE TUBE UNI-TUBE FANOUT KIT 10
TRANSFORMER, 1.5 KVA, 1 PH, NEMA 3R 277V, 
120V/240V 4
2, 2 SCREW CONNECTOR, OVAL SVC-ENT 15
COVER, WIRE DUCT, 2 72
AUXILIARY CONTACTS, 1NO, SIDE MOUNT, SIZE 
00-2 48
AUXILIARY CONTACTS, 1NO-1NC, SIZE 00-2 2
AUXILIARY CONTACTS, 600V, 1 POLE 3
BASE, MOUNTING, MULTI 9, 3P 7
BASE, MOUNTING, MULTI 9, 2P 8
LUG, RING TYPE, NON INSULATING, 12-10 AWG, 
# 8 2365
LUG, RING TYPE, NON INSULATING, 12-10 AWG, 
# 8 492
RELAY, INDUSTRIAL, 120VAC, 2NO/2NC 3
RELAY, INDUSTRIAL, NEMA A600/Q600, 120VAC 
CONTROL, 3NO/1NC 2
RELAY, CONTROL, 600VAC, 10AMP 7
TERMINAL, SPADE/FORK, #6, CRIMP; PRODUCT 
RANGE:CBS SERIES 500

EMI CABLE FEED THRU, PG07 1
EMI CABLE FEED THRU, PG09 2
STRAIN RELIEF CONNECTOR 10
STRAIN RELIEF FITTING 27
STRAIN RELIEF FITTING, MULTI-HOLE 14
STRAIN RELIEF FITTING, CORD GRIP, CABLE 
GLANDS, BLACK & GRAY 3

CABLE ENTRY BOOT 1
HEAT SHRINK, ENTRY SEAL, POLYOLEFIN, 1 
LEG, 2-3/4 LG, BLACK 5
HEAT SHRINK, ENTRY SEAL, POLYOLEFIN, 1 
LEG, 2-3/4" LG 21
HEAT SHRINK, ENTRY SEAL, POLYOLEFIN, 2.45
LG, BLACK 1
HEAT SHRINK, ENTRY SEAL, POLYLFN, 1LEG, 
A20THRUHOLE, 3.30LG 2
HEAT SHRINK, ENTRY SEAL, POLYOLEFIN, 1 
LEG, 2.45 LG, BLACK 8
HEAT SHRINK, ENTRY SEAL, POLYOLEFIN, 1 
LEG, 3-3/4 LG, BLACK 15

HEAT SHRINK, ENTRY SEAL, POLYOLEFIN, 3 
LEG, 88.9MM, BLACK 3

CABLE ENTRY SEAL KIT, 16 HOLE 1
CABLE ENTRY SEAL KIT, 4 HOLE 2
HEAT SHRINK, NON, CLT FITTING, 
POLYPROPYLENE, BLACK 17
FUSE HOLDER 2
COVER, RECEPTACLE, 1-GANG, WHILE-IN-USE, 
WEATHERPROOF 1
MODULE, CM, WITH CORE, 15mm X 40mm 248
MODULE, CM, WITH CORE, 20mm X 40mm 35
CM 15/0 BLANK 94
CM 30W40 1
CM40/32 1
CONTACTOR, NEMA SIZE 3, 120VAC COIL 1
BATTERY, CMOS 4
DAY/NIGHT SPECO CAMERA 1
MALE RECTANGULAR INSERT 4
CONTROL RELAY, 8-P 4NO/4NC, 120VAC 5
LATCHING RELAY SOCKET 7
CONTROL RELAY SOCKET 8
CONTROL RELAY, CUTLER HAMMER 1
LATCHING RELAY DPDT 3
CIRCULAR CONNECTOR PLUG, SIZE 15, 19POS 
CABLE 2
CIRCULAR CONNECTOR PLUG, SIZE 23, 53 POS 
CABLE 2
RELAY SOCKET 9
DIN RAIL MOUNT, 11 PIN SOCKET 1
DIN RAIL MOUNT, 11 PIN SOCKET 1
SPLICE, INSULATED, MINISEAL WIRE 78
TURNLOCK FASTENERS 36
CABLE MOUNT 37
4P RELAY SOCKET 2
4P ICE CUBEL RELAY 2
ADAPTER 1
MOUNTING BRACKET 1
CONTROL RELAY 2
FIRE SMOKE DETECTOR 1
FEMALE DISCONNECT 22-18 AWG (81F4596) 85
DISCONNECTS, FEMALE, RIGHT ANGLE, NYLON 
INSULATED 120

FEMALE SUPRA DISCONNECTS 75
DUCT, WIRING, LIGHT GRAY, 4 12
PIGGY BACK DISCONNECT 48
TRANSFORMER, INDUSTRIAL CONTROL 2
Connector, Male, J Style, Shrouded, Positive Latching, 
Cable Size: 350 MCM, Color: YELLOW 8

Connector, Male, J Style, Shrouded, Positive Latching, 
Cable Size: 350 MCM, Color: ORANGE 8

Connector, Male, J Style, Shrouded, Positive Latching, 
Cable Size: 350 MCM, Color: BROWN 8

TUBULAR RING TERMINAL, NON INSULATED 200
REV D CABLE GREEN 1
FLUSH PUSH BUTTON 2
LENS, RED 5
SWITCH, PUSHBUTTON 6
ADAPTER, WELD, FOR LEVEL SENSOR, 
STAINLESS STEEL 5

Nylon Snap Elbow Strain Relief Fittings NPT 2
ETHERNET SWITCH, ENTRY LEVEL MANAGED, 
10/100 BASET(X) 2

HANDLE, DOOR HANDLE MECHANISM, BLACK 2
CAMERA MOUNT, WALL, MEDIUM DUTY 6
RELAYS, INDUSTRIAL, SPST-NO 9-36VDC 200A 
KILOVAC 1

FUSE, CYLINDER, NORMAL BLOW, 5A, 250V 5
FUSE, CYLINDER, NORMAL BLOW, 30A, 250V, 
SILVER 3
WIRE DUCT 1-1/2 42



Item Description Quantity

WIRE DUCT 2 6
FILTERED TERMINAL BLOCKS 7
FAN OUT KIT, BUFFER TUBE, 6F, 25IN 16
FAN OUT KIT, BUFFER TUBE, 12f, 25IN 15
Series C Breaker, 3-pole, 40A 600VAC 3
FAN GUARD, METAL 7
DUAL ELEMENT FUSES, FUSETRON 8
FUSE, 1-1/2A, CLASS CC 250 VAC 17
FUSE, 15A, 500V, TIME DELAY 1
TIME DELAY FUSE, FUSETRON 2
FUSE, TIME DELAY, 1A 45
FUSE, TIME DELAY, 2A 4
FUSE, TIME DELAY, 20A 4
FUSE, 30A, Time Delay 1
FUSE, TIME DELAY, 4A 4
FUSE, 7A TIME DELAY 24
FIRE DETECTORS 15
FUSETRON FUSE 1
WIRE DUCT 2 48
WIRE DUCT 4 60
WIRE DUCT 4 12
WIRE DUCT 6 GRAY 102
DIN Rail Mount for NET232 2
RECEPTACLE, GFCI, CIRCUIT GUARD, LED, 20A, 
125V, 3W, WHITE 1
ROXTEC MODULE 7
FUSE, FAST ACTING, 5A, 5X20 10
BUSSMAN FUSE 70
FUSE 2A 2
FUSE, CYLINDER, 3A, GLASS, 250VAC 18
FUSE, TIME DELAY, 6 AMP 40
BUSSMAN FUSE 60
HUB, ZINC, 1" 3
SOLAR CONNECTOR H4 FEMALE HALF, 12AWG 81
SOLAR CONNECTOR H4 MALE, 12AWG 77
RECEPTACLE, IEC60309, 320R4WM IEC 309 PIN & 
SLEEVE 1
HEAT SHRINK, CABLE BOOTS, 2 WAY OUTLET, 
POLYOLEFIN, BLACK 1
HEAT SHRINK, 1.9, CABLE BOOTS, BREAKOUT 2 
WAY OULET, BLACK 2
HEAT SHRINK, .09, CABLE BOOT,SPLITTER, 3 
WAY, POLYLFN, BLACK 15
HEAT SHRINK, 1.2, CABLE BOOT, SPLITTER, 3 
WAY,BREAKOUT BLACK 50
HEAT SHRINK, 1.5, CABLE BOOT, 
BREAKOUTSPLITTER, 3 WAY, BLACK 22
HEAT SHRINK, CABLE BOOT, BREAKOUT, 3 WAY 
OUTLET, BLACK 46
HEAT SHRINK TUBING,1-1/2" ID, HEAVY WALL, 
BLACK 2

HEAT SHRINK, DRY SHRINK, .50" DIA, 
POLYOLEFIN, THNWAL, BLACK 297
HEAT SHRINK, DRY SHRINK, 3/4" SZ, 
POLYOLEFIN, THINWAL, BLACK 3

OVERLAY, TOGGLE SWITCH 23
OVERLAY, INTERFACE PANEL 10
DOOR STRAP MOUNT 21
3KW FLEXGEN CONTACTOR JUMPER 2
THUMBSCREW 3
DDG MRU CONTROLLER SIDE PANEL, RIGHT 1
DDG MRU CONTROLLER INTERFACE PANEL 1
5 HOLE PB PANEL 1
BUSS FUSE BLOCK 1
POWER CONNECTION, SINGLE ENTRY WITH 
JUNCTION BOX 7
FUSE, 100A, CLASS T, JJS, 600VAC 3
FUSE BLOCK 1
FUSE, 20A, 600VAC/500VDC, M, FAST ACTING 2
Kick Pipe Caps, 3/4" - Small 9
CONNECTOR, MIL-DTL-26482 SERIES I, 16#16 6
CONNECTOR, SPLIT BOLT, # 8 - 250MCM 28
FUSE 1
FUSE, REJECTION, 1 AMP, 600 VAC, FAST ACTING 6
FUSES, COOPER BUSSMAN 5
FUSE, COOPER BUSSMAN 12
FUSE, COOPER BUSSMAN 3
AUX CONTACTS 2
SIDE MOUNT, AUXILIARY CONTACT, 1NO/1NC 4
RELAY, INDUSTRIAL, AUXILIARY CONTACT 
BLOCK, 1NO/1NC 8
CONTACTOR, AUXILIARY CONTACT BLOCK, 
4PST-2NO/2NC 18
TERMINALS, LUG, 1/0AWG, 1/4 25
Square D Circuit Breaker Motor Operators 2
LUG, 2 HOLE, 500 MCM 3
DIALIGHT LIGHT SOCKET 9
Square D Circuit Breaker 2
SHORT CIRCUIT LINE ISOLATOR(ALD) 1
LOCKNUT, PG 13, NYLON 96
LOCK NUT, CORD CONNECTOR 70
LOCK NUT, CORD CONNECTOR 60
NUT, FLEX TOP LOCK, 10-32, ZINC PLATED 307
NUT, FLEX TOP LOCK, 1/4-20, ZINC PLATED 288
NUT, FLEX TOP LOCK, 8-32, ZINC PLATED 376
FINGER GUARD, 92mm 6
FINGER GUARD, 119mm 5
FINGER GUARD, 172mm 6
STUFFING TUBE, NYLON CAP ONLY, 4T 20
STUFFING TUBE, SIZE 1, NYLON 38
STUFFING TUBE, SIZE 2, NYLON 16
STUFFING TUBE, SIZE 3, NYLON 82
STUFFING TUBE, SIZE 4, NYLON 12
STUFFING TUBE, SIZE 4T, NYLON 5
STUFFING TUBE, SIZE 5, NYLON 30
STUFFING TUBE, SIZE 7, NYLON 24
PLUG, SIZE 1, NYLON 8
PLUG, SIZE 4/4T, NYLON 4



Item Description Quantity

PACKING, ASSY, SIZE 1B 46
NYLON TUBE PACKING ASSEMBLY, Size 1B1 98
PACKING ASSY, SIZE 2A 43
PACKING ASSY, SIZE 2B 16
PACKING ASSY, SIZE 2E 5
PACKING ASSY, SIZE 3A 23
PACKING ASSY, SIZE 4B 4
NYLON TUBE PACKING ASSEMBLY, Size 4C 31
PACKING ASSY, SIZE 4E 52
PACKING, SIZE 4E1 4
NYLON TUBE PACKING ASSEMBLY, Size 4F 45
PACKING ASSY, SIZE 4G 1
PACKING ASSY, SIZE 5A 7
PACKING ASSY, SIZE 5B 128
5C Packing 2
PACKING, SIZE 5 1
PACKING ASSY, SIZE 5G 2
PACKING, SIZE 5H 4
STUFFING TUBE, SIZE 1, 90 DEGREE 1
STUFFING TUBE, SIZE 2, 90 DEG, NYLON 10
STUFFING TUBE, SIZE 3, 90 DEGREE 39
STUFFING TUBE, SIZE 5, 90 DEG, NYLON 93
STUFFING TUBE, SIZE 5, 90 DEGREE 4
PACKING, SIZE 6A3 1
PACKING, SIZE 6A 3
PACKING, SIZE 6A1 14
PACKING ASSEMBLY, SIZE 6B1, NYLON TUBES 4
PACKING, SIZE 7C 1
PACKING ASSEMBLY, SIZE 7A, NYLON TUBES 58
PACKING ASSEMBLY, SIZE 7B, NYLON TUBES 27
PACKING ASSEMBLY, SIZE 7B1, NYLON TUBES 4
PACKING ASSY, SIZE 8A 2
PACKING, SIZE 8A2 3
PACKING ASSY, SIZE 8B2 7
PACKING ASSY, SIZE 9A 4
PACKING, SIZE 9B 10
PACKING, SIZE 9B1 2
STUFFING TUBE, SIZE 1, MNPT, NYLON 2
STUFFING TUBE, SIZE 2, MNPT, NYLON 68
TUBE, STUFFING, NYLON, SIZE 3 2
STUFFING TUBE, SIZE 4T, MNPT, NYLON 11
TUBE, STUFFING, NYLON, SIZE 6 3
TUBE, STUFFING, NYLON, SIZE 7 9
TUBE, STUFFING, NYLON, SIZE 8 1
DOOR MOUNTED RESET OPERATOR 4
HEAT SHRINK, 3/4" SZ, POLYOLEFIN, 2:1 RATIO, 
BLACK 2

HEAT SHRINK, 3/4", POLYOLEFIN, INSULATED, 2:
1 RATIO, WHITE 2
HEAT SHRINK, 1" SZ, POLYOLEFIN, FLEX, 2:1 
RATIO, BLACK 1
STUFFING TUBE, STL, SIZE X X 5.125, SYM 1618 8
Size "K" Kick Pipes & Deck Tubes Stl 11" Deck 1
STUFFING TUBE, BLKHD, ALUM, SIZE B, 6.75, 
SYM 1732 6
Size "A" Bulkhead Tube Stl 6.75" 4
Size "L" Kick Pipes & Deck Tubes Stl 11" 6
Size "C" Kick Pipes Aluminum 11" 4
Size "S" Kick Pipe Stl 11" 1
STUFFING TUBE, DECK, STL, SIZE N, 11, SYM 
1922 4
STUFFING TUBE, DECK, STL, SIZE A, 11, SYM 
1911 5
STUFFING TUBE, STL, SIZE B, 2-3/4 1
GLAND NUT, SIZE A BRASS 6
GLAND RING, SIZE A STAINLESS STEEL 12
CABLE, LSFSGU-9 104
CONTACT PINS, 16 GA 92
SOCKET, CONTACT 16
TERMINAL BLOCK 1
TERMINAL JUNCTION MODULE 2
TERMINAL BLOCK 1
TERMINAL BLOCK 5
CAPSCREW, HEX, M8-1.25 X 30mm, DIN 933 A2 SS 7
BACKSHELL 1
BACKSHELL, SIZE 23 2
BACKSHELL, BLACK, SIZE 14, 90 DEGREE 7
BACKSHELL; STRAIN RELIEF; MIL SPEC; 
STRAIGHT; SIZE 14 70

BACKSHELL, SIZE 16 3
CONNECTOR, STRAIN RELIEF, SIZE 28 2
CONNECTOR 4
BACK SHELL, AS85049, sHELL SIZE-14 6
MIL SPEC 90 DEGREE BACKSHELL 7
Filler Plate 69
Ferrules 1,000 PACK SMALL INSULATED 
FERRULES 8

MCT BLOCK 96
3 AMP MINI FUSE 5
FUSE 30
STUD, STACK, 3/8 X 1, MS 1032
WASHER, LOCK, SPLIT, M4, DIN 127 A2 SS 18-8 100
TIE, CABLE, 304 STAINLESS STEEL 25
TIE, CABLE, STAINLESS STEEL 100
TIE, METAL LOCKING, HEAVY, 14.3 IN 200
MOUNT, ENCLOSURE 6
NUT, HEX, M6-1, DIN 934 A2, SS 207
WASHER, FLAT, 1/4, SS 300 SERIES 24
WASHER, FLAT, 5/16, SS 300 SERIES 25
WASHER, FLAT, 7/16, SS 300 SERIES 109
WASHER, FLAT, 7/16, SS 300 SERIES 6
WASHER, FLAT, #8, SS 300 SERIES 12
Washer, Flat Plain, 300 Series, CRES, #10, .5" OD, .04"-
.07" 12
WASHER, FLAT NO 6 4
NUT, SELF-LOCKING, HEX-HEAD, 0.25-20 UNC-3B, 
CRES 27
NUT, HEX, NYLON INSERT, 5/16-18, SS 7



Item Description Quantity

NUT, HEX, NYLON INSERT, 3/8-16, SS 12
NUT, HEX, NYLON INSERT, 7/16-14, SS 12
NUT, HEX, NYLON INSERT, 1/2-13, SS 8
SEALING PLUG, SIZE 12 CAVITY, YELLOW 500
SEALING PLUG, SIZE 16 510
Blinding Pin, 20 GA 620
SEALING PLUG, SIZE 23-22 CAVITY, BLACK 700
O RING, NYLON TUBE, SIZE 1  12
O-RING, STUFFING TUBE, SIZE 2 71
ORING SIZE 4 9
ORING SIZE 5 11
O RING, NYLON TUBE, SIZE 8  4
HANGERS, 2 CABLE, M/S, SL0111-TXL-M/S 88
ITT CANNON  MS3101F10SL-3P CIRCULAR 
CONNECTOR PLUG SIZE 10SL 2

BACKSHELL 1
ITT CANNON  MS3106F10SL3S  CIRCULAR 
CONNECTOR, PLUG, 10SL-3, 2

CONNECTOR, CIRCULAR,7P SIZE 16S STRAIGHT 
PLUG SOCKET 5015 4
CONNECTOR 2
MIL SPEC FOUR PIN CIRCULAR PLUG 1
MIL SPEC THREE PIN CIRCULAR PLUG 4
MIL SPEC THREE PIN CIRCULAR PLUG 4
MIL SPEC FOUR PIN CIRCULAR PLUG 3
MIL SPEC FOUR PIN CIRCULAR PLUG 2
CONNECTOR, SOCKET, CIRCULAR, 6P, SIZE 20 4
CONNECTOR, 5P, SIZE 16 4
CONNECTOR, 5P, SIZE 16 5
CAPSCREW, HEX, 1/2-13 X 1-1/4, SS 300 SERIES 6
HANGERS, 3 CABLE, M/S, SL0124-TXL-M/S 130
SCREW, PAN HEAD MACHINE, PHILLIPS, 3/8 X 1/2 6
SCREW, PAN HEAD, PHILLIPS, #4-40 X 1-3/8, SS 
300 SERIES 12
SCREW, PAN HEAD, PHIL, MACH, #4-40 X 3/8, SS-
300 132
SCREW, PAN HEAD, PHIL, MACH, #6-32 X 1/2, SS-
300 4
SCREW, MACHINE, 8-32 X 3/4 STAINLESS STEEL 27
SCREW, PAN HEAD, PHILLIPS, 5/16-18 X 3/4, SS 
300 SERIES 15
SCREW, PAN HEAD, PHILLIPS, #10-32 X 3/8, SS 300 
SERIES 10
SCREW, PAN HEAD, PHILLIPS, 1/4-28 X 1/2, SS 300 
SERIES 2
CONNECTOR, PLUG, ELECTRICAL, WALL 
MOOUNTING 3
MOUNT, CABLE TIE, STAINLESS STEEL, 4MM 100
TERMINAL, 22-18 AWG ( 1A084 ) 155
TERMINAL, 12-10 AWG (3NLV6) 29
WASHER, FLAT, M12, SS 50
SET SCREW, SOCKET, M6 X 6,  CUP A-4 50
SCREW, TAMPER-RESISTANT KIT 22
CLOSE NIPPLE, 2IN X 4IN 1
PIPE NIPPLE, C/S, 1-1/2IN X 6IN 2
CABLE CLAMP, NYLON 1 100
WASHER, FLAT, NO. 6, .375X.149X.016, SSEM22 98
PLATES, NF PANEL BOARD FILLER 24
LOCK NUT, STRAIN RELIEF 24
LOCK NUT, STRAIN RELIEF 27
NIPPLE 2
NIPPLE 1
NUT, EMI, PG07 THREAD 3
NUT, EMI, PG09 THREAD 3
Locking Nuts for Strain Relief Fittings, Cord Grips, 
Cable G 2

NP3/4 XCL NIPPLE , CLOSE 1 7
NIPPLE 4
NIPPLE 2
PLATES, NQ PANEL BOARD, FILLER 11
PLATE, FILLER, NQ (15 per Package) 1
BOOT, SHRINKING END CAPS 11
BOOT, SHRINKING END CAPS 9
CABLE ENTRY SEAL, 2 LEG 19
CABLE ENTRY SEAL, 3 LEG 4
SEAL, CABLE ENTRY, 3.4" X .75 NPT 48
CABLE ENTRY SEAL, 3 LEG, STANDARD 9
CABLE ENTRY SEAL, 4 LEG, STANDARD 20
SEAL, CABLE ENTRY, 1 LEG, 1.10 MIN ID 8
CABLE ENTRY SEAL, 4 LEG, STANDARD 8
SEAL, CABLE ENTRY, 1 LEG, 1.60 MIN ID 30
SEAL, CABLE ENTRY, 1 LEG, 2.10 MIN ID 1
PANEL, JUNCTION BOX, AM SERIES AM1206 1
3/8" CHANNEL NUT 20
PANEL, JUNCTION BOX, AM SERIES AM664 1
NON-HEAT TUBING AND SLEEVE, CUSHION 
SLEEVE 738
Protective Strip 738
HEAT SHRINK, 4.8, DUAL CAP, END CAP, 
POLYFN,3:1 RATIO, BLACK 30

WIRE NUTS, RED, 12-22AWG 96
WIRE NUTS, TAN, 12-22AWG 97
GROUND BAR KIT 6
GROUND BAR ASSY, LOAD CENTER EQUIPMENT 8
GROUND BAR KIT 12
GROUND BAR KIT, LOAD CENTER EQUIPMENT 3
GROUND BAR KIT 1
GROUND BAR ASSY, LOAD CENTER EQUIPMENT 18
GROUND BAR ASSY, LOAD CENTER EQUIPMENT 1
GROUND BAR ASSY, LOAD CENTER EQUIPMENT 1
PLUG, KICK PIPE, SIZE B 14
PLUG, KICK PIPE, SIZE D 19
PLUG, KICK PIPE, SIZE E 8
PLUG, KICK PIPE, SIZE F 6
TERMINAL, RING, 12-10  AWG MULTI-STUD 6-10 100
TERMINAL, RING, 22-16 AWG, MULTI-STUD 6-10 100
ALCOHOL PADS 157
RELAY, HOLD DOWN CLIP FOR D3PA3 SOCKET 10



Item Description Quantity
TRANSMITTERS, SUBMERSIBLE PRESS, 25FT 
CABLE 1

TERMINAL, PIN, 12-10AWG, .55 PIN LENGTH 50
TERMINAL, PIN, 16-14AWG 100
MACHINE SCREW, PHILLIPS, PAN HEAD, M3-.
5X10, SS 18-8 41
FRAME, R, GALV, 100mm X 85mm 15
BULK HEAD, STEEL, MIL-P-24705, MULTIPLE 
PENETRATION 7
TERMINAL, RING, 16-14AWG, #6 646
FRAME, R, GALV, 150mm X 70mm 55
FRAME, R, GALV, 200mm X 70mm 7
INSULATOR 1-3/4 length 3/8-16 Tread 27
SLEEVE, 4 DIAMETER X 12 LENGTH, STEEL 
SLEEVE 4
THREE POLE ROTARY SWITCH 2
RIBBON, THERMAL TRANSFER, BLACK 1
FUSEBLOCK 1
RIBBON, THERMAL TRANSFER, 2 X 75', BLACK 1
DISCONNECT, FEMALE, INSULATED, 22-18 AEG 2659
Terminal, Ring, #6 Stud, 16-22 AWG, Crimp 932
12-10 AWG CU, 1/2" HOLE ( 3KG55) 19
RING TERMINAL, INS NYLON, 6, #10, BLUE 6
RELAY, TIME DELAY 11
LUG, RING, INSULATED, 6 AWG, 3/8 70
BLOCKS, 10/0X12, MIL-P-24705, COMPENSATION 
SPARE 3927
BLOCKS, MULTI-DIAMETER, MOD, 0.15 -0.35 78
BLOCKS, MULTI-DIAMETER MOD, 0.16 -0.53 76
ROX BLOCK, SIZE 30mm 1
BLOCKS, 40/0, MIL-P-24705, COMPENSATION 
SPARE 7
BLOCKS, CORE MULTI-DIA MOD, 1.22-1.97, MIL-P-
24705 1
BLOCKS FOR LSTSGU-400 CABLE 8
HEAT SHRINK, 2", HS-TBG, POLYOLEFIN, 2:1 
RATIO, 4' LG, BLACK 125
LUBRICANT, TALLOW 49
REVERSEPOLARITY CONNECTOR 25
CONNECTOR, LIQUID TIGHT 7
T-BAR, STAINLESS STEEL 1.5" 28
T-BAR HANGER, 3 1/2" CRES 1
HANGER, T-BAR, 2-1/2", SS 6
HANGER, T-BAR, 6-1/2", SS 207
HANGER, T-BAR, 7-1/2", STEEL 83
FUSE, 5 X 20MM, 32MA, FAST BLOW 20
Fuse Block, 2 Pole for 1/4" x 1-1/4" Fuses, 30 Amp 15
CONNECTOR, ZINC CABLE, CONDUIT, 1 IN 1
POWER SUPPLY, DIN RAIL, 24VDC 1
CONNECTOR, LIQUID TIGHT 3
HEAT SHRINK, 1.77, END CAP SKE 45/100, HEAVY 
DUTY, BLACK 5
HEAT SHRINK, 8/20, END CAP SKE, HEAVY DUTY, 
POLYOLEFIN, BLCK 16
SS Large Butterfly Hangers 1
HANGER, CABLE, DOUBLE, .305"-.371", MS 171
HANGER, BUTTERFLY, MEDIUM, MS 51
HANGER, CABLE, TRIPLE, .375"-.531", MS 65
T-BARS, 1 1/2 MS 2
HANGER, T-BAR, TUBULAR, 5-1/2", MS 77
HANGER, T-BAR, TUBULAR, 6-1/2", MS 133
HANGER, T-BAR, TUBULAR, 6-1/2", SS 101
SLEEVE, PRIMED, PAINTED 14
SLEEVE, PRIMED, PAINTED 8
500GB SEAGATE HDD SNW0V0MA68 1
16/2 SOOW Portable Cord 600 V 50
1/2" Strain Relief Connector Metal 4
FITTING, MALE ELBOW, 1/4" TUBE OD X 1/4" 
MALE NPT, SS 4

FITTING, Male Pipe Weld Connector 5
REDUCING COUPLING 1
SS 3/8 T X 1/2 TUBE STUB REDUCER, BOX 25 9
SS 1/2  UNION 90 ELBOW, BOX 10 9
HEAT SHRINK, CABLE BOOT, CABLE ENTRY 
SEAL, 3 WAY CABLE 10
INSULATOR, 2-1/8" X 2-1/2" X 3/8"-16, GLASTIC 14
INSULATOR, STANDOFF, 2-1/2", GLASTIC 119
INSULATOR, STANDOFF, 2-3/4", GLASTIC 48
INSULATOR, STANDOFF, 2", GLASTIC 9
INSULATOR, STANDOFF, 1-1/2" X 5/16", GLASTIC 22
INSULATOR, STANDOFF, 2" GLASTIC 9
INSULATOR, GLASITC STANDOFF 31
INSULATOR, GLASITC STANDOFF 6
CONNECTOR, 2PIN, SCREW TYPE, MODICON STB 950
Size "C" Kick Pipes Aluminum 6.75" 2
Size "E" Kick Pipes Stl 11" Deck 3
Size "G" Kick Pipes & Deck Tubes Stl 11" Deck 16
Size "M" Kick Pipes & Deck Tubes Stl 11" Deck 15
Size "X" Kick Pipes & Deck Tubes, 11" 1
Size "Z" Kick Pipes & Deck Tubes Stl 11" 2
TERMINAL BOX, BRASS, MIL-T-24558/18 12
TRANSFORMER, AD0511 3
TERMINALS, FORK, 22-18 AWG, # 6 & 8 370
WIRE DUCT, 1 X 1-1/2, WHITE 72
WIRE DUCT, 1 X 1-1/2, WHITE 72
WIRE DUCT, 1" X  4", WHITE 60
Wiring Duct, 1-1/2 X 1-1/2 X 6', White 276
WIRE DUCT 1-1/2 X 2, GRAY IBOCO 30
WIRE DUCT 1-1/2 X 2, GRAY IBOCO 30
WIRE DUCT 1 1/2 X 4, GRAY, IBOCO 70
WIRE DUCT, 1.5x 4", 6 FT PER PIECE 4
WIRE DUCT, 2.25 X 2.25 IN, 1/PK, WHITE, THIN 
FINGER, 2M 180
WIRE DUCT, 2" X  4", GRAY 24
WIRE DUCT, 3" X  4", GRAY 18
WIRE DUCT, 3" X  4", WHITE 36
WIRE DUCT, 3" X  4", WHITE 12
WIRE DUCT 4 IBOCO 48



Item Description Quantity

WIRE DUCT, 4" X 4", GRAY 36
WIRE DUCT, 4" X 4", GRAY 36
WIRE DUCT, 4" X 4", WHITE 24
WIRE DUCT, 4" X 4", WHITE 24
PATCH CORD, CAT 5 - 40 FT 2
PATCH CORD, CAT 5 - 50 FT 1
CABLE ENTRY BOOT 1
T-BAR HANGERS, 7 1/2 M/S 2
LABELS, THERMAL TRANSFER PRINTABLE, 1" X 
1" 15000

MOUNT, CABLE TIE 87
SCHMERSAL POSITION SWITCH, SAFETY 
FUNCTION 3

TERMINAL SHROUD 2
PLUG, CAT5E MODULAR, 8 WAY 1 PORT 48
FORK TERMINALS, VINYL INSULATED, 12-
10AWG, YELLOW 150
RING TERMINALS, VINYL INSULATED, 12-
10AWG, YELLOW 225
MIL SPEC THIRTY FIVE PIN CIRCULAR 
CONNECTOR 1
MIL SPEC THIRTY FIVE PIN CIRCULAR 
CONNECTOR 1
ADAPTER, SIZE 10 4
LUG, 1-1/2 HOLE, GREEN, 250-500 MCM 35
LUG, 1-1/2 HOLE, PURPLE, 400-750 MCM 9
Taco Viridian VR15 - 1-1/2" Flgd, 110-240V Web-
Enabled Pump 1
CONNECTOR AND LEAD 1
WIRE MARKER BOOK, E-Z CODE 15
TRANSFORMER, 1.73V 21
ENCLOSURE, PUSH BUTTON, 1 HOLE 2
PUSHBUTTON, SPRING RETURN, 1NO, FLUSH, 
22mm, BLACK 1
LABEL CARTRIDGE, WHITE, 1-1.5 3
CONNECTOR, CLAMP TYPE,  3/8 for 1/2 CONDUIT 
HOLE, ZN 114
MACHINE SCREW, FLAT HEAD, SS, M6X1.0 X 45 199
SLEEVE, WIRE MARKING, 1.015 X .645, 
PERMASLEEVE 12
ADAPTER, REDUCING, 4/0 to 3/0, COPPER 20
SPRING, RELAY SOCKET RETAINER 3
LUG, 1H, 1/0 STR, 1/2 STUD 5
LUG, 1H, 3/0 STR 1/2 STUD 6
LUG, 1H, 3/8 STUD 3
LUG, 400 kcmil, 2 HOLE, 1/2 STUD 68
LUG, 2H, 500 MCM 4
SPLICE, COMPRESSION, 4/0 AWG, LONG BARREL 6
PUSH BUTTON 13
BASE, MOUNTING, METAL CONTACT BLOCK 10
PUSHBUTTON, FLUSH, NON-ILLUMINATED, 
MOMENTARY, BLACK 1
INDICATOR, PANEL MOUNT, LED, 22mm, GREEN 
LENS 3
COLLAR, MOUNTING, XB4, 22mm 16
PUSHBUTTON, FLUSH WITH TRANSPARENT 
WHITE 2
PUSH BUTTON, FLUSH, BLACK, 22MM, 35531 71
PUSH BUTTON, 22MM, NON-ILLUM RED 3
PUSH BUTTON, PROJECTING, BLACK, 22MM, 
90638 1
SWITCH ACTUATOR, RED 65
PUSH BUTTON, GREEN, 115V 12
MODULE, LAMP, CONTACT BLOCK, 22MM, 1NO 6
PUSH BUTTON, YELLOW, 24VAC 3
BASE, CONTACT,  N.O., 24VDC, SCREW 
TERMINAL, LED, BLUE 1
OPERATOR, PUSH BUTTON, YELLOW, 22MM 3
OPERATOR, PUSHBUTTON, 22mm, WHITE 6
OPERATOR, ILLUMINATED, 22mm, FLUSH 
BOOTED FOR LED, BLUE 1
COLLAR, MOUNTING 43
SWITCH, 22MM, CONTACT BLOCK, 1 NC 105
BLOCK, CONTACT, 2 NO, 2 POLE USED 
W/ROTARY SWITCH HEAD 3
SWITCH, PUSH BUTTON, 24V, 22MM, GREEN 1
PUSH BUTTON, LIGHT MODULE, 22MM, 24V 3
LEGEND PLATE, 28X7mm, SELF ADHESIVE, 
BLACK BACKGROUND 4
PLATE, SWITCH LEGEND 67
PLATE, SWITCH LEGEND 66
EMI POWER FILTER 1


